
1 
 

DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2023-24) 
 

 
 

Class - X                                                                             Subject – Artificial Intelligence  
Time – 2 Hours                                                  Maximum Marks - 50   

General Instructions:  

1. Please read the instructions carefully.  
2. This Question Paper consists of 15 questions in two sections: Section A & Section B.   
3. Section A has Objective type questions whereas Section B contains Subjective type 
questions.  

4. Out of the given (3 + 12 =) 15 questions, a candidate has to answer (3 + 9 =) 12 questions 
in the allotted (maximum) time of 2 hours.  

5. All questions of a particular section must be attempted in the correct order.  

6. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS):  

i. This section has 03 questions.  
ii. Marks allotted are mentioned against each question/part.  
iii. There is no negative marking.  
iv. Do as per the instructions given.  

7. SECTION B – SUBJECTIVE TYPE QUESTIONS (26 MARKS):  

i. This section has 12 questions.  
ii. A candidate has to do 9 questions.  
iii. Do as per the instructions given.  
iv. Marks allotted are mentioned against each question/part. 
 

 
SECTION A: OBJECTIVE TYPE QUESTIONS 

 

Q. 1  Answer any 4 out of the given 5 questions on Employability Skills (1 x 4 = 4 
marks) 

i.  ……………………………. is the ability of a person to do things that need to 
be done without someone or something influencing us. 

1 

ii.  Having conscious knowledge of your capabilities, feelings and one’s own 
character is called as ……………………………….. . 

1 

iii.  Expand the term virus. 1 

iv.  An operating system falls under which one of the following categories? 

a. Application software 

b. System software 

c. Utility software 

d. Firmware 

1 
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v.  …………………………… are the small files that get stored on a 

computer while surfing the internet and help websites identify a user.  

1 

 

Q. 2  Answer any 10 out of the given 11 questions (1 x 10 = 10 marks)  

i.  Which of the following devices is not a true AI system? 
a. Self-driving vehicles 
b. Virtual voice assistance 
c. Smart televisions 
d. None of these 

1 

ii.  Which of the following technology is extensively used in the field of 
customer service? 
a. Biometrics 
b. Chatbots 

c. Search Engines 

d. All of these 

1 

iii.  The ……………………………….. technology enables machine to analyse a 
large amount of data using neural networks. 

1 

iv.  1. Artificial intelligence is a subset of machine learning. 

2. Unequal distribution of wealth is an ethical issues associated with the AI 
system 

a. Statement 1 and 2 both are true 

b. Statement 1 and 2 both are false 

c. Statement 1 is correct statement 2 is false 

d. Statement 1 false statement 2 is correct 

1 

v.  Computer vision extracts meaningful information from ……………….. data. 1 

vi.  The advertisement of merchandise is an example of which of the following 
domains of AI? 
a.  data science 

b.  computer vision 
c.  natural language processing 
d. All of the above 

1 

vii. The world of Artificial Intelligence revolves around ___________ 1 
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viii. Based on the image below, choose the correct domain or domains of AI 
required for it: 
 
 

 
 
a.  Data   
b.  NLP  
c.  Computer Vision  
d.  Both (a) and (b) 

1 

ix. Unscramble the letters and find which not a virtual assistant is. 
a. LZEIA 
b.  IIRS  
c.  LAEAX  
d.  AACTRON 

1 

x. A machine can also become intelligent if it is trained with __________ which 
helps them achieve their tasks. 

1 

xi. ___________________ is an example of Applications of Natural Language  
Processing. 
a.  Evaluation  
b.  Automatic Summarization 
c.  Deep Learning  
d.  Problem Scoping 

1 

 

Q. 3  Answer any 10 out of the given 11 questions (1 x 10 = 10 marks)  

i.  In a class, a teacher has grouped students according to their level of 
intelligence like Below Average, Average, Above Average and Brilliant to 
evaluate their academic performance. This is an example of:   
a. Regression  

b. Classification  
c. Clustering  
d. Decision Tree 

1 
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ii.  Which of the following statement(s) is/are correct?  

(i) Data collection helps us in determining the nature of the problem. 

(ii) Modelling is the process of implementing AI-enabled algorithms on a 
chosen model.  

(iii)  Evaluation is the process of putting our model to test by using AI-
enabled algorithms to generate accurate real time results.  

(iv)  Data acquisition ensures that data obtained from many sources is 
accurate, dependable and traceable.  

 

a.  (i) and (ii) only  

b.  (i), (ii) and (iii)  

c.  (ii) and (iii) only  

d.  (ii), (iii) and (iv) 

1 

iii.  Amazon Alexa is a voice-controlled digital or virtual assistant software that 
takes voice commands to make to-do lists, place online orders, schedule 
reminders and answer queries through internet searches. Alexa uses_______  

a. Decision Tree  

b.  NLP  

c. Classification  

d. Data Visualization 

1 

iv.  Which of the following is not an authentic source for data acquisition?  

a.  Sensors  

b.  Surveys  

c.  Web Scraping 

d.  System Hacking 

1 

v.  Which type of graphical representation suits best for continuous type of data 
like monthly exam scores of a student? 

1 

vi. Neural Network is a mesh of multiple _____________________. 1 

vii. Which of the following is correct about the rule based approach?  

a. We cannot provide enough rules to the machine.  

b.  A drawback/feature for this approach is that the learning is static.  

c. Once the rules are fed into the system, it takes into consideration any 
changes made in the original training dataset.  

d. It can improve itself based on the feedbacks. 

1 
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viii. When a machine possesses the ability to mimic the following human traits, it 
is said to have artificial intelligence. Identify the positive traits that an AI 
machine should possess.  

i. make decisions 

ii.  bias  

iii. predict  

iv.  learn and improve on its own  

a.  i), and iii) only  

b.  i) , iii) and iv) only  

c.  ii) and iv) only  

d.  i) ,ii), and iv) only 

1 

ix. A business problem wherein we categorize whether an observation is 
“Safe,” “AtRisk,” or “Unsafe” is an example of  

a. Classification  

b. Clustering  

c. Regression  

d. Dimensionality Reduction 

1 

x. ______________ helps us to summarise all the key points into one single 
outline so that in future, whenever there is need to look back at the basis of 
the problem, we can take a look at it and understand the key elements of it.  

a. 4W Problem canvas  

b. Problem Statement Template  

 c. Data Acquisition  

 d. Algorithm 

1 

xi. a. Understand and inspect the web page to find the HTML markers 
associated with the information we want.  

b. Use Python libraries to pull out data from the HTML page. 

c. Manipulate the collected data to get it in the form we need.  

 

The above given steps are for collecting data from which of the following 
data sources?  

a. Cameras  

b. Sensors  

c.  Surveys  

d. Web scraping 

1 

 

 

ECTION B: SUBJECTIVE TYPE QUESTIONS  

Answer any 5 out of the given 6 questions (2 x 5 = 10 marks) Answer each 

question in 20 – 30 words.  

Q. 4  What is a computer operating system? State any two functions of operating 
system. 

2 
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Q. 5 What is Intelligence? Explain in brief any three types of intelligence that 

are mainly perceived by human beings. 

2 

Q. 6  Differentiate between what is AI and what is not AI with the help of an 
example? 

2 

Q. 7  What do you understand by Data Privacy? 2 

Q. 8  

 

2 

Q.9 What do you mean by Data Features? 2 

 

 

Answer any 4 out of the given 6 questions in 50– 80 words each (4 x 4 = 16 marks) 
 

Q. 10  Explain the following with example: 

1. Language processor which is a kind of system software. 
2. Utility Software 

4 

Q. 11 Explain in brief the three domains of AI. 4 

Q. 12 Differentiate between AI, ML and DL . 4 

Q. 13  Differentiate between rule-based and learning-based AI modelling 
approaches. 

4 

Q. 14 Explain the AI Project Cycle in detail. 4 

Q. 15 Draw the 4Ws problem canvas and explain each one of them briefly. 4 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

        QUALIFYING EXAMINATION   (2023-24) 
 

 
Class - X        Subject – English  
Time – 3 Hours       Maximum Marks - 80 
      

 

General Instructions:  

1. This paper is divided into 3 sections: A, B and C. All the sections are compulsory.                                                         

  2. Separate instructions are given with each section and question, wherever necessary. Read 

the instructions very carefully and follow them faithfully.                                                                            

 3.  Do not exceed the prescribed word limit while answering the questions. 

 

SECTION A : READING SKILLS (20 marks) 
 

I. Read the passage given below.                     (10) 

1. Speaking of the best diets, we must first distinguish between the earlier food consumption 
habits of India and the way these have changed now. We should actually celebrate how our 
food consumption habits used to be – India‘s dietary patterns have shown that food was 
connected to the local eco system.  It was ecologically diverse – every part of India celebrated its 
biodiversity through its food culture.  

2. The traditional Indian food habit was possibly the most bio diverse diet of the world. Of course, 
other diets were similar before they were turned into monoculture diets where everyone eats, 
rice, wheat and a hamburger. But Indian diets were truly remarkable in how they optimized 
biodiversity and local ecologies. Individual health, local foods and seasonal factors all came 
together in our diet. This was spontaneous and thoughtlessly designed in terms of what works 
for you because of the environment in which you live. And it was spontaneous in terms of the 
local ecology and the plants and foods growing around you.  

3. The indigenous Indian diet understood that food, built into your day-to-day lives, is one of the 
most powerful forms of medicine we have. But these systems of belief and practice were 
disrupted by force of the market. From being a medicine which strengthened us, food has 
become a marketable commodity now.  

4. What you eat at home or learn from your local cuisine is changing because now you are 
designing your diet based on aspiration, based on what others eat, on what is supposed to be 
modern and what is easily available – this transmutation is happening because of the power of 
markets, food companies and food commodification.   

5. Once you were taught about hot foods, cold foods and foods you must eat seasonally. Now, of 
course, there is nothing called a season because you can get the same food across the whole year. 
But there was a scientific reason to eat something in a particular season – this was for the 
goodness food gave you at that time of year. You don‘t eat dry fruits in summer, for instance. 
These are traditionally eaten in winter because of the warmth they give you in colder months.   
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6. This science of food, interwoven into the art of diet, is something we grew up with. But we are 
discrediting such indigenous knowledge now because of the signals we get from the outside  
world, which teaches you that food must be packaged, it must look good (even though it may 
not be good for you) and it must be addictive.   

7. Food has also come to mean overindulgence – the meat industry now produces unbelievable 
amounts and does so using a number of chemicals and destroying vast forests. Further, people 
are now eating so much meat, it is seriously damaging their health. Both our bodies and our 
environment need us to return to indigenous diets and plant base choices, which are much 
healthier for us. These will empower us to feed more people from a less degraded earth.  

 

Based on your understanding of the passage, answer the questions given below.       (10)
  

1. The one important feature of food consumption habits in the past was that they    (1) 
a) were consistent with biodiversity          
b) were cheap but not nutritious  
c) included many processed food items           
d) had a high meat content   

 

2. Which of the following feature is absent in Indian diets?      (1) 
a) individual  factors      
b) local foods  
c) seasonal factors                     

d) high consumption of processed foods  
 

3. Original indigenous Indian diet had ___________.        (1) 
 

4. One major factor that considerably changed the food consumption habits is ________. (1) 
 

5. What do you mean by science of food? Explain with the help of one example from the 

passage in about 40 words.           (2) 
 

6. Traditionally, Indian diet plans are designed as per the local ecosystem. Explain in about 40 
words                (2) 

 

7. Which word in para 4 is the opposite of stagnation?         (1) 
 

8. Which word in para 7 means the opposite of being economical or moderate?   (1) 
 
II. Read the passage given below.                                    (10) 

1. Over 60% of doctors in the country now prefer, one out of three times, digital interaction with 

their patients as against the traditional interaction, indicating a trend where WhatsApp, text 

messages and emails are increasingly being used for consultations. This is slightly lower, but in 

keeping with the trend in the United States, Japan and China, where a greater number of 

healthcare professionals (HCPs)-in certain markets, over 90% have switched to the digital 

medium, using WeChat, blogs, email and text messaging to engage with patients for follow-up. 
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2. Also, a majority of doctors (globally 60%) demand from drug companies the use of digital 

tablets and iPads along with direct interaction when medical representatives (MRS) are 

detailing the portfolio of medicines. These findings are part of the Digital Savvy HCP 

(Healthcare Practitioner) 2015, an annual global survey on the digital habits of doctors across 

the United States, Japan, China and India, by healthcare solutions firm Indegene, shared 

exclusively with TOI. 
 

3. The survey involved more than 1,600 healthcare professionals across the globe, with 67% 

speciality doctors, and the remaining 33% general practitioners. In India, over 300 doctors were 

part of the survey with more than 10 years of experience, practising in tier 1 and tier 2 places 

across the country. The survey found that 76% doctors in the US prefer personal interaction (of 

field force) along with detailing with the tablet, while the corresponding figure in India is 90%. 
 

4. As against this, doctors in India prefer a face-to-face detailing with their digital tablets, wherein 

they meet MRS in their clinics and the latter are equipped with detailing on their tablets/iPads. 

Globally, drug companies are increasingly switching to digital channels like emails, websites, 

webinars, apps and text messages due to compliance requirements, the survey says, adding 

34% of physicians globally value the smart phone as a key resource in medical information. 

Other devices used by doctors are laptops, PCs and tablets. India sees less than half the global 

usage of smart phone doctors, while the most preferred device for doctors here is laptops (34%). 

Based on your understanding of the passage, answer the questions given below.        (10) 

1. What is the trend among healthcare professionals in the United States, Japan, and China with 

regards to digital interaction with patients?       (1) 

a) Over 60% of doctors prefer digital interaction with patients 
b) Over 90% of doctors prefer digital interaction with patients 
c) Less than 50% of doctors prefer digital interaction with patients 
d) The passage does not provide enough information to answer this question. 

 

2. What do a majority of doctors globally demand from drug companies?   (1) 

a) The use of digital tablets and iPads for personal use 

b) The use of traditional detailing methods when presenting medicines 

c) The use of digital tablets and iPads along with direct interaction when detailing 

medicines 

d) The passage does not provide enough information to answer this question. 

3. What was the sample size of doctors in India for the survey?     (1) 

a) Over 1,600 healthcare professionals 

b) Over 300 doctors 

c) 67% speciality doctors and 33% general practitioners 

d) The passage does not provide enough information to answer this question. 

4. The survey included more general practitioners than specialty doctors. True/False  (1) 

5. The aforementioned survey was collaboratively conducted by ______________________ and 

__________________.          (1) 
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6. Assertion (A) : a majority of doctors prefer digital interaction with their patients over 

traditional interaction.          (1) 

Reasoning( R ) : according to a survey most of the healthcare professionals have switched to 

digital mediums like WeChat, blogs, email, and text messaging to engage with patients for 

follow-up. 

a) Both A and R are true and R is the correct explanation of A. 

b) A and R are true but R is NOT the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

7. Mention any two important key findings about Indian doctors revealed through the survey 
mentioned in the passage? (40 words)         (2) 

8. Which devices and mediums have helped in accentuating the global digitalization of drug 

companies. (40 words)          (2) 

 

SECTION B - GRAMMAR & WRITING SKILLS (20 marks) 

GRAMMAR 

III. Attempt ANY TEN out of twelve of the following tasks, as directed.                            (1X10=10)  

i. Fill in the blank with an appropriate modal to complete the given lines of a poem.  (1)                  

  Like a crow, through the bars  

  and over the walls I travel.  

I can go anywhere, but there is no place  

I _________ rather fly to than a place my mind 

 Needs yet to know.  
 

ii. The given sentence has a part which is underlined. Find the best possible replacement of the 
underlined part from the given options.         (1) 
The program that was terminated was working well since 1945. 

a) has been working well 

b) has worked well 

c) worked well 

d) had been working well 
 

iii. Select the correct option to fill in the blank for the given line.     (1) 
We __________respect other people's beliefs and opinions, even if we don't agree with them. 

a) should   b) need to  c) might               d) ought to 

 

iv. Select the option that identifies the error and the correction for the following line:              (1)                                                                                                                                                                                                                                                                                          
I missed the last bus which I usually caught and had to stay back at the station. 
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v. Complete the given line, by filling in the blank with the correct option:                                   (1) 

If the current trend ______________, the average income will increase by 50%. 

     A. will continue     B. would continue 

C. continues    D. continue 

vi. Fill in the blank by using the correct modal verb, for the given portion of a letter:    (1) 

The above points _________ be potential factors responsible for lesser happiness scores among 

Indian citizens few years ago. 

Through your reliable and trusted media coverage, I would like to request you to highlight the 
above-mentioned concerns for the benefit of the people. 

Yours sincerely 

Rakesh Malhotra  

vii. Walk fast lest you ______________ miss the last bus too.      (1) 

viii. Identify the error in the given sentence and supply the correction.              (1)                   

Someone called while I am watching television last night. 

Use the given format for your response.              

 

 

 

ix. Change the tense of the given sentence from simple future tense into future continuous by 

making the necessary changes.         (1)             

He will deliver a speech tomorrow. 

x. Fill in the blank with the modal that corresponds the best to the function given in the bracket. 

How _____________ you disturb me after repeated warnings! (challenge)    (1) 

xi. Fill in the blank with the correct form of verb given in the bracket.    (1) 
You __________three cups of coffee already. (have) 

xii. Read the given sentence from a recipe review article. Identify the error and supply the 
correction in the sentence.            (1) 
This delightful recipe must keep your hunger pangs at bay with its balanced spices and 
oriental flavour.  

Option no. Error  Correction  

A which  whom 

B had have 

C caught catch 

D at on 

Error  Correction  
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Use the given format for your response.           

 

 

 

 

                                   SECTION B –CREATIVE WRITING SKILLS (10 marks) 

IV.   Attempt ANY ONE from A and B given below.                                                                  (1x5 = 5) 

A. Studies reveal that movies nowadays leave a great impact on young minds.  Not only do they 
affect people’s beliefs and opinions but also are responsible in setting stereotypes and 
attitudes. You are Namita or Naman of 13/20 ,Ramna Road , Patna and you are deeply 
disturbed by the display of violence, obscenity and drugs in Indian films. You want to do 
away with this existing ‘trend’ in Indian cinema. Write a letter to the Editor of a national 
daily in about 100 to 120 words commenting on the situation and suggesting some measures 
to dilute the intensity of this trend. 

OR 

B. You are Rama/Ramesh , a student of class X from D-105, Lajpat Nagar, New Delhi. You want 
to pursue a short term German language learning course during the summer vacations. Write 
a letter of Inquiry to the Director of the German Language Learning Centre at German 
Embassy, Chanakya  Puri, New Delhi , seeking necessary information about the same . 
[Word Limit 100 -120 words].                                                             

 

V.    Attempt ANY ONE from A and B given below.                                                               (1 x 5 = 5) 

A. The given bar graph shows the number of students who opted for science, commerce and 
humanities in the year 2017 and 2018. Write an analytical paragraph in about 100 to 120 
words based on the given data. 

 

 

 

 

 

 

 

 

 

 

 

 

Error  Correction  
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OR 
B. Given below is a bar graph that shows some changes in public behaviour in ‘X’ city in a 

period of two years. Analyse the data carefully and summarise it in the form of an Analytical 
paragraph in not more than 100 to 120 words.  

 

 

SECTION C – LITERATURE  (40 marks) 

 

VI. Refer to the context and attempt ANY ONE out of the two extracts given below: (1x5=5) 
 

A . “It was only when I began to learn that my boyhood freedom was an illusion when I 

discovered as a young man that my freedom had already been taken from me, that I began to 

hunger for it. At first, as a student, I wanted freedom only for myself, the transitory freedom of 

being able to stay out at night, read what I pleased and go where I chose. Later, as a young 

man in Johannesburg, I yearned for the basic and honourable freedoms…” 
 

i) The title that best suits this extract is 

a) Freedom for Everything 

b) Knowledge about Freedom 

c) Significance of Freedom 

d) Realisation of Freedom 
 

ii) Choose the option that best fits the usage of the word ‘illusion’ as used in the extract. 

a) He was never able to get past the illusion. 

b) The illusion I experienced was quite intriguing. 

c) A large mirror in the room creates an illusion. 

d) I was living under the illusion that this was possible. 
 

iii) Why do you think the speaker mentions some freedoms as ‘transitory’? 

a) The freedoms are momentary and keep changing with time. 

b) The definition of freedom is constant, but perspectives differ. 

c) Freedom means different things to different people. 

d) Freedom is not that important after a certain age. 
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iv)  The speaker says, ‘at first, as a student, I wanted freedom only for myself.’ Why do you 

think he only thought about himself? 

a) He didn’t want to think about the freedom denied to others. 

b) He was being selfish and was only bothered about himself. 

c) He didn’t think that freedom denied to him was important to others. 

d) He was too young to realise that freedom was denied to others as well. 
 

v) A part of the extract has been paraphrased. Choose the option that includes the most 

appropriate solution to the blanks in the given paraphrase of the extract. 

The speaker’s belief about freedom since childhood proved false. It was not until the speaker 

grew up to be a young man when it i) __________________ on him that he was ii) 

________________ of freedom. Then he began iii) __________________ it. 

a) I) desired ii) dawned iii) depriving 

b) I) dawned ii) deprived iii) desiring 

c) I) dawned ii) arrived iii) desiring 

d) I) arrived ii) deprived iii) dawned 
 

OR 

B. He discovered the joys of being bowled over, tramped on and squashed every few minutes. He 

became an accepted member of the gang, an unlikely, silky little object among the shaggy crew, 

fighting like a tiger for his share at mealtimes and hunting rats in the old henhouse at night. He 

had never had such a time in his life. All the while, Mrs Pumphrey hovered anxiously in the 

background, ringing a dozen times a day for the latest bulletins. 

 

i. Read the following statements, each of which describes the gist of the given extract. Select the 

option that captures the essence of the extract correctly.   

 

Statement I – It highlights the kind of comforts and luxuries that Tricki was used to at 

home.   

Statement II – It brings out a contrast between Tricki and Mrs. Pumphrey’s state of being.  

Statement III – It reflects that Tricki was happier at the surgery, and loved being with other 

dogs.   

Statement IV – It shows Tricki’s journey with his peers at the surgery, and documents his 

recovery.  

a) Statements I and II 
b) Statements III and IV   
c) Statements I and III   
d) Statements II and IV   

 

ii. What does the reference to Tricki as a “silky little object” signify?   
a) Tricki was a very small and rather pampered dog.  
b) Tricki was comfortably attired in fine silks and warm coats.   
c) Unlike the other dogs, Tricki had lived in the lap of luxury with care and grooming.   
d) The narrator’s mockery of Tricki’s life and treatment with Mrs. Pumphrey.   
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iii. Why does the narrator describe being “tramped on and squashed” as joys?   
a) To suggest the irony about the strange ways of dogs.   
b) To mention the simple pleasures of canine life.   
c) To compare it to Tricki’s earlier play-time at the house.   
d) To direct attention towards Tricki’s successful recovery.  

 

iv. “All the while, Mrs Pumphrey hovered anxiously in the background”. Given below are 

different types of pet parenting styles described in Country Living, an e-magazine. Choose 

the option that best reflects the kind of pet owner Mrs. Pumphrey was.   

1. Traffic Light pet owners have a healthy balance of rules and freedom and give clear and 
consistent signals for ‘yes’ and ‘no’.   

2. Entranced pet owners have the best intentions, but as soon as their pet locks eyes with 
them and gives their command, they are at their pet’s beck and call.   

3. The Goose pet owners go all-out in protecting their pet. They often limit their time away 
from their pet, especially puppies.   

4. The Baggage Handler pet owners love being close to their pets and going on adventures 
together. They are always mindful of the pet’s comfort and security . 

 

a) Option (1)   
b) Option (2)   
c) Option (3) 
d) Option (4) 

 

    v. Pick the option that reveals Tricki’s characteristics in the context of ‘fighting like a tiger for 
his share at mealtimes and hunting rats in the old henhouse at night.’   

1. selfish  
2. happy   
3. greedy   
4. confident   
5. sturdy   

6. cruel   

 

a) 2,4 and 5   

b) Only 2  

c) 1 and 5   

d) 3,4 and 6 

 

VII. Refer to the context and attempt ANY ONE out of the two extracts given below (1X5=5) 

A. If strolling forth, a beast you view,  

Whose hide with spots is peppered, 

As soon as he has lept on you,  

You'll know it is the Leopard.  

'Twill do no good to roar with pain. 

He'll only lep and lep again. 
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i. Choose the option listing the stanza that would follow the given extract. 

 
a) Option 1 

b) Option 2 

c) Option 3 

d) Option 4 
 

ii. Given below are four examples of activities that Jasmeet does. Choose the option that correctly 

demonstrates 'strolling'. 

a) Jasmeet runs with a great speed after being chased by a dog. 

b) Jasmeet walks in the garden, relaxing while listening to his favourite song. 

c) Jasmeet skids sharply on the icy skate rink.  

d) Jasmeet rushes to switch off the water pump in the backyard. 
 

iii. Which option lists the statement that is NOT TRUE according to the extract? 

a) The poet asks the reader to hide on seeing the leopard.  

b) The poet cautions the reader about a Leopard when walking through its territory 

c) The poet informs the reader that a leopard can launch repeated attacks.  

d)  The poet tells the reader that a leopard attack can result in pain. 
 

iv.“He’ll only lep and lep again” is an example of 

a) Poetic justice.  

b) Satire. 

c) Allusion. 

d) Poetic license. 
 

v. Choose the option that matches with the rhyme scheme of the extract 
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a) Option 1 

b) Option 2 

c) Option 3 

d) Option 4 
 

OR 

B. But he’s locked in a concrete cell,   

His strength behind bars,   

Stalking the length of his cage,   

Ignoring visitors.   

He hears the last voice at night,   

The patrolling cars,   

And stares with his brilliant eyes  

At the brilliant stars 
 

i. The fact that the tiger is ‘stalking the length of his cage’ tells us that he is   

a) restless.   

b) reckless.   

c) resilient.   

d) reverent.  
 

ii. What is the rhyme scheme of the given stanzas?   

a) abcb; abcb   

b) abcb; abcd   

c) abcd; abcd   

d) abcd; abcb 
 

iii. These stanzas bring out the contrast between   

a) zoos and cities.   

b) strength and weakness.   

c) freedom and captivity.   

d) visitors and patrolling cars.   

 

iv. What is the caged tiger NOT likely to say to the visitors?   

a) “Stop staring”.   

b) “Set me free”.   

c) “Join me".   

d) “Go away” 

 

v. The tiger’s ‘brilliant eyes’ reveal that he   

a) hopes to be free and in the wild, someday.   

b) is looked after well and is nourished and healthy.   

c) enjoys staring at the bright stars each night.   

d) is well-rested and hence, wide-awake 



  

12 
 

 

VIII. Answer ANY FOUR of the following in about 40-50 words each.   (4x3=12) 

i. The postmaster was a representative of God. Evaluate this statement in the context of the 
story ‘ A Letter to God’. (A Letter to God  ) 

ii. What according to Mandela is his country’s richest gems and why ?(Nelson Mandela – 
Long Walk to Freedom) 

iii. What is your opinion about Anne’s talent of writing essays? (From the Diary of a Young 
Girl ) 

iv. Use of symbolism in the poem Fire and Ice conveys the poets message effectively .Explain 
with reference to the poem.  ( Fire and Ice) 

v. What is the underlying message for the millennials and Gen Z in their hectic life with 
reference to the poem Dust of Snow? (Dust of Snow) 

IX. Answer ANY TWO of the following in about 40-50 words each.   (2x3=6) 

i. In which queer way did Anil make his living? What did he do with his money? 
ii. Do you think the narrator’s decision not to reveal the actual treatment to Mrs Pumphrey 

was unprofessional? Justify your stance. 
iii. Write a brief analysis on the narrator’s mood just before the theft. 

X.   Answer ANY ONE of the following in about 100-120 words.                                 (1 x 6 = 6 ) 

i. Imagine that Nelson Mandela read 'Fire and Ice'. 

As Mandela, write a diary entry associating the impact of the troubled history of South 

Africa with the idea expressed in the poem. You may begin like this: 

10 May 1994, Tuesday, 10 pm 

Today, when finally the people of South Africa have attained freedom from Apartheid and 

I stand as their President, I can't help recalling Robert Frost's 'Fire and Ice' and its................. 

OR 

ii. "Listening means to acknowledge what you hear and to act accordingly. It is one very 
effective skill for teachers to understand their students. " Analyse Mr Keesing as a teacher 
with reference to the above line and bring out the transformation that came in him as a 
teacher. 

XI.   Answer ANY ONE of the following in about 100-120 words.                                    (1 x 6 = 6) 

i. Evaluate how Education impacted the young thief in 'The Thief's Story’ 

OR 

ii. 'On the path of overindulgence lies danger.' Explain the extent to which this saying is true 
with reference of the chapter ' A Triumph of Surgery '. 
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Section A 

Comprehension écrite 

(10 Marks) 

 

I.Lisez le texte et répondez aux questions: 

Je m'appelle Angélica Summer, j'ai 12 ans et je suis canadienne. Il y a 5 ans, ma famille et moi avons déménagé dans 

le sud de la France. Mon père, Frank Summer, est mécanicien; il adore les voitures anciennes et collectionne les 

voitures miniatures. 

Ma mère s'appelle Emilie Summer; elle est infirmière dans un hôpital non loin de notre maison. Nous avons 

déménagé en France, parce qu'elle a toujours aimé la culture de ce pays.La vie en France est très différente de celle 

au Canada. Ici, il fait toujours chaud. Chaque dimanche, nous allons à la magnifique plage de Biarritz et nous 

achetons des glaces après avoir nagé dans la mer. 

Les Français sont très sympathiques et accueillants. Nous parlons français lorsque nous sommes dehors, à l'école ou 

au marché. Cependant, nous continuons de parler canadien à la maison, car mes parents ne veulent pas que je perde 

ma langue natale. 

[a] Choisissez la bonne réponse: (1X3) 

[i] Comment s'appelle la mère dans la famille Summer? 

[a] Mathilde [b] Patricia [c] Emilie 

[ii] Comment sont les français? 

[a] Adorables [b] Sympathiques [c] Méchants 

[iii] Quelle est la profession du père d’Angélica? 

[a] Mécanicien [b] Plombier [c] Artiste 

 

[b] Nommez: (1X2) 

[i] Deux nationalités 

[ii] Deux pays 

[C] Répondez aux questions : ( 1×5 ) 

a) Quelle est nationalite de angelica. 



b) Qui s’appelle mère de angelica. Quelle sa profession. 

c) Décrivez le père de angelica. 

d) Comment france est different que canada ? 

e) Ou est angelica habite ? 

 

 

 

Section B 

Expression écrite  

(30 Marks) 

 

I. Ecrivez une lettre à votre cousin(e) pour lui parler  que vous avez visité dans vacance d’été. (10 marks)     

                                                                                        

II. Demain, il y a une fete. Votre ami vous a invite(e) mais vous ne pouvez pas y aller car votre mere est 

malade. Laissez un message                                                                                                                        (5 Marks) 

 

III.  Mettez aux ordres                                                                                                                                        (5 Marks)  

Denis : C'est vrai? Et quand est-ce que tu dois partir? 

Akanksha : Oui, certainement! J'aimerais bien rejoindre mes grands-parents. Mais vous me manquerez tous. 

Denis : Salut Akanksha! 

Akanksha : Tu sais, mes parents rentrent en Inde. 

Denis : Ne t'inquiète pas! On peut toujours rester en contact sur Facebook. 

Akanksha : Salut Denis! 

Denis : Ça te plaît d'aller en Inde? 

Akanksha : Après le bac, je crois. 

Denis : Qu'est-ce qui se passe? 

 

 

Section – C 

Grammaire ( 30 Marks ) 

 

1) Mettez au passé composé ou à l’imparfait selon le sens                                               (5 marks) 

 

A. La semaine dernière nos cousins nous  (fêter)......  leur anniversaire de mariage. 

B. Toute la matinée Bernard ( écrire).........................  une lettre à son grand père. 

C. .Il (utiliser)................................  toujours une nouvelle crème. 

D. Qu'est-ce que tu (perdre)................................ ? 

E. Mes parents (marcher) ................................ deux kilomètres chaque matin. 

 



2) Completez avec qui, que , dont ,  Où                                                                                       (5 marks) 

1) Cest un vêtement ___________ elle avait envie depuis longtemps. 

2) J’ai visité la ville ____________ Napoléon Bonaparte est né.  

3) Le cadeau _____________ il m’a envoyé est superbe. 

4) Cet homme __________ passe devant la maison est mon voisin 

5) C’est celine dion _________ la chansons j’aime beaucoup. 

3) Reliez les phrases en utilisant les pronoms relatif composés.                                            ( 5 marks) 

a) C’est ma tante. Je vais le dimanche chez elle. 

b) C’est une belle idée. Tu as pensé à cette idée. 

c) Voilà le chien .Mon professeur  a peur de chien. 

d) Ce sont les parents. Les enfants jouent evex eux. 

e) Rencontre mon fils. Je suis fier de lui. 

4. Mettez au présent :                                                                                                                            ( 5 marks ) 

1. Ils (choisir) un gigot rôti et je (choisir) de la salade. 
2. Je ne (dormir) pas bien mais il (dormir). 
3. Nous (manger) des chocolats et elle (manger) une glace. 
4. Tu (appeler) ta mère, nous (appeler) nos sœurs. 
5. Jacques (regarder) la télévision et il (parler) à sa sœur. 

5.Mettez au futur antérieur :                                                                                                                  (5 Marks )  

a. Quand je (manger) mon dîner, je serai content. 
b. Aussitôt que tu (lire) ce livre, viens me voir. 
c. Dès qu’elle (manger) un peu, elle se sentira mieux. 
d. Lorsqu’il (se lever), il ira à l’école. 
e. Quand vous (vendre) cette voiture, vous pourrez en acheter une autre. 

 

4) Completez pars futur simple:                                                                                                 ( 5 Marks ) 
 

a) II …………………(savoir) ce qu’il se passe ici. 
b) Je …………………(vouloir) une tasse de the. 
c) Tu …………………(faire) tes devoirs demain ? 
d) Nous …………………(etre) a Paris demain. 
e) Vous …………………(avoir) la bonne chance. 



 

Section – D 

Literature ( 20 Marks ) 

1.Répondez aux questions :       10 M 

a) Comment sont les Aiguilles de Bavella. 

b) Nommez quelques villes importante de france. 

c) En quelle classe entre-t-on au college en France ? 

d) A quel age inscrit-on un enfant a l’ecole ? 

e) Est-ce que le systeme educatif de l’Inde est similaire a celui de la France ? 

f) QU’est -ce que c’est “CV” ? 

g) Quelle est votre profession préfère prNommez des vins et fromages français. 

h) Quel fleuve traverse paris ? 

i) Nommez une grande festivale de france. 

j) Quel diplome obtient -on dans un lycée ? 

 

 

 

2. Reliez les mots :                   5M 

1. Enfant                           (a) Lycée 

2. Baccalauréat                  (b) IUT 

3. Faculté                  (c) École maternelle 

4. Technologie           (d) Collège 

5. Brevet                   (e) Université. 

 

3.Dites vrai ou faux            5M 

a. La france se trouve en Europe .    _________ 

b. Camembert est un petit village . _________ 

c. La loire est le plus long fleuve de France.  _______ 

d. La sorbonne est la nouvelle université de paris _____ 

e. Le professeur enseigne aux etudiants à l’université. _________ 
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Guidelines: 

 This question paper consists of 4 sections A, B, C and D.  

 The marks for each section are defined with individual questions. 

 Attempt question of one group at one place. 

 Write complete sentence for fill in the blanks type question. 
 

 Section A-Reading 
(20 marks) 

 

I Lies den Text und beantworte die Fragen.    
     
Kommunikationstypen  

Veronika, 41:Ich persönlich kommuniziere gern schriftlich. E-
Mail ist für mich da ideal - das ist schnell und direkt. Manchmal 
schreibe ich aber auch einen Brief oder eine Postkarte. Die Karten 
oder die Briefumschläge gestalte ich dann auch. Außerdem 
verwende ich nur besondere Briefmarken. Mein Handy benutze 
ich eher selten, SMS schreibe ich aus Prinzip nicht. Das ist mir zu 
unpersönlich. Ab und zu telefoniere ich per Skype, vor allem mit 
Freunden, die im Ausland leben. 

Detlef. 60: Was sich die jungen Leute heute per SMS mitteilen, 
haben wir früher auf Zettel geschrieben. In der Schule, auf dem 
Pausenhof -auf Zetteln haben wir besprochen, wer wen gut oder 
schlecht findet wann und wo wir uns treffen, ... Ich habe noch ein 
paar von den Briefchen, die der Lehrer damals nicht einkassiert 
hat. Heute schreibe ich immer noch gern Briefe, zum Beispiel an 
meinen Freund Klaus, der in Australien lebt und den ich nur sehr 
selten sehe. Ich freue mich immer, wenn in meinem Briefkasten 
auch ein Brief liegt. 

Jessica, 32:  Ich bin Bürokaufrau und sitze fast den ganzen Tag am 
PC. Deswegen bin ich abends froh, wenn das Ding mal aus ist! 
Wenn ich reden will, schicke ich meinen Freunden eine SMS und 
wir treffen uns. Spontan und schnell. Mit meiner Cousine Annika, 
die zurzeit in Frankreich studiert, chatte ich oft, weil es fast nichts 
kostet. Nur die Kosten fürs Internet eben. 

Andreas, 24: Ich bin ziemlich kommunikativ und finde Skype 
genial, besonders für Menschen, die weit voneinander entfernt 

leben. Man kann so viel chatten und telefonieren, wie man will. 
Mein Freund arbeitet zurzeit in New York, und da bin ich froh, 
dass wir nicht nur miteinander sprechen, sondern uns auch sehen 
können, wenn die Webcam eingeschaltet ist. 
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A. Wer sagt das? Ergänze die Namen:    

     

1. ______________schreibt keine SMS.  

2. ______________findet Skype genial.  

3. ______________hat einen Beruf, den sie hauptsächlich am PC 
ausübt.  

4. ______________hat eine Cousine, die im Ausland studiert.  

5. ______________schreibt ab und zu mal einen Brief.  

6. ______________findet SMS schreiben unpersönlich. 

B. Beantworte die Fragen.       

1. Wie kann man schriftlich schnell kommunizieren?  

2. Wie kann man sich spontan schnell verabreden?  

3. Warum chattet Jessica oft mit ihrer Cousine?  

4. Was sind die Vorteile von Skype? 

 
1x6=6 
 
 
 
 
 
 
 
 
 
 
1x4=4 
 
 
 

II Lies den Text und ergänze die fehlenden Wörter: 
 

Vitamin, Kranke, Zucker, Gemüse, gesund, Produkte, Leben, 
Körper, Frutarier, Kalzium 

 

Wie gesund ist ein fleischloses ___________? Das kommt darauf 
an. Fleisch hat viele Proteine, Mineralien und Vitamine, die der 
menschliche ___________ braucht. Aber Protein gibt es auch in 
Milchprodukten oder Hülsenfrüchten, wie Linsen oder Bohnen. 
Ein ___________, dass es nur im Fleisch gibt, ist das Vitamin B12. 
Wenn man kein Fleisch isst, kann man Vitamin B12-Tabletten 
nehmen. Menschen, die keine tierischen ___________ essen, 
müssen aufpassen, dass sie genug Kalzium bekommen, denn 
___________ ist sehr wichtig für die Knochen. Kalzium findet man 
vor allem in Milchprodukten, aber auch in grünem ___________. 
Für ___________ ist eine gesunde Ernährung schwieriger, weil 
ihnen viele Vitamine, Mineralien und Proteine fehlen. Sie müssen 
diese Stoffe zum Beispiel als Tabletten nehmen, um ___________ 
zu bleiben. Kinder, Sportler*innen, Schwangere und ___________ 
sollten besser nicht futurisch leben. Fleischlos leben muss nicht 
ungesund sein. Wichtig ist eine ausgewogene Ernährung. Viele 
Studien zeigen, dass Menschen, die kein Fleisch essen, oft 
gesünder sind als Menschen, die (viel) Fleisch essen. Sie haben 
aber auch generell einen gesünderen Lebensstil: Sie essen oft 
weniger ___________, trinken weniger Alkohol und machen mehr 
Sport.  
 

1x10=10 

 Section B –Writing 
(10 marks) 

 

III E-Mail schreiben:       
   

Deine deutsche Freundin Silke hat dich in ihrer letzten Mail über 

5 
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deine Schule gefragt. SchreibIhr eine E-Mail und erzähl von 
deiner Schule. Schreib etwas zu den folgenden Punkten:  

 Welche Schule besuchst du? Wie lange dauert die 
Schule?  

 Wann und wie viele Pausen hast du in der Schule? 

 hat die Schule eine Kantine? Was kann man da kaufen?  

 Wie findest du das Essen in der Schulkantine? 

IV Du bist mit deinem Freund in Schulkantine. Er will Pizza essen, 
aber du willst etwas Gesunderes essen. Diskutiert darüber mit 
deinem Freund. Schreib dazu einen Dialog. 
 

5 

 Section C – Applied Grammar (Any 5 Topics)  V is mandatory: 
(30 marks) 

 

V Bilde indirekte frage mit ‘Ob’ 

a. Gibt es eine Kantine in der Schule? 

- Ich bin mir nicht sicher, ________________________? 

b. Essen die Schüller mittags in der Schulkantine? 

- Ich möchte wissen, ____________________________? 

c. Möchten die Kinder Pizza oder Hamburger essen? 

- Ich wollte noch fragen, _________________________? 

d. Hat Stefan das Essen gut geschmeckt? 

- Ich weiβ nicht, ________________________________? 

e. Isst Sabine lieber Fisch oder Fleisch? 

- Ich habe keine Ahnung, ________________________? 

f. Lernt ihr Kochen in der Schule? 

- Ich verrate dir nicht, ___________________________? 

g. Ist das Essen in der Kantine gut oder schlecht? 

- Ich weiβ nicht, ________________________________? 

h. Kommt Max morgen? 

- Er fragt, ______________________________________? 

i. Hat Thomas am Montag Zeit? 

- Ich weiβ nicht, ________________________________? 

j. Kannst du Morgen mitkommen? 

- Weiβt du, ____________________________________? 
 

1x10=10 

VI Ergänze die Adjektive mit den richtigen Endungen: 

a. Mein Freund Ralf ist ein _________ (nett) Junge. 
b. Karl ist wirklich ein _____________ (hilfsbereit) Mensch! 
c. Hast du „Alchemist“ gelesen. So eine _________ 

(fantasievoll) Gesichte! 
d. Ich möchte keine ___________ (langweilig) Sendungen 

sehen. 
e. Lena ist so ___________ (Humorvoll) Mädchen. 

 

1x5=5 

VII Ausfüllen mit richtigen Präpositionen: 

a. Wir fliegen ___________ London. (zu, zwischen, nach, gegen) 
b. Ich sitze _____ dem Stuhl. (auf, über, bei, zwischen) 
c. Am Wochenende fahren wir _____ unserer Oma. (aus, zu, in, 

gegen) 

1x5=5 
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d. Woher kommst du? Ich komme _______ der Schule. (zu, aus, 
bei, in) 

e. Wir fahren seit einer Stunde dem Fluss______. (entlang, beim, 
gegen, über)  

 

VIII Schreib der Komparativ und Superlativ: 

a. Schnell, __________, am ___________. 
b. Billig, __________, am ___________. 
c. Klein, __________, am ___________. 
d. Einfach, __________, am ___________. 
e. Gut, __________, am ___________. 
f. Lustig, __________, am ___________. 
g. Warm, __________, am ___________. 
h. Schlecht, __________, am ___________. 
i. Alt, __________, am ___________. 
j. Hoch, __________, am ___________.  

.5x10=5 

IX Kombinieren die Sätze mit Konnektoren: 

a. Wir wollen nach Deutschland fliegen. Wir haben nicht genug 
Geld. (Obwohl) 

b. Wir denken. Deutsch ist sehr Interessant. (dass) 
c. Glaubst du? Soll ich ein Neues Smartphone kaufen. (dass) 
d. Herr Müller ist traurig. Seine Frau ist gestorben. (weil) 
e. Sag mir. Hat sie einen neuen Job gefunden? (ob) 

 

1x5=5 

X Schreib die Sätze mit Konnektoren:  

a. Mein Bruder weiβ nicht. seine Frau hat das Auto genommen. 
(ob) 

b. Ich möchte wissen. Sie haben sich gestern verlobt. (ob) 
c. Barbara ist von dem Unterricht gekommen. Sie fühlte sich 

nicht gut. (als) 
d. Lukas kauft sich ein neues Auto. Er hat genug Geld. (wenn) 
e. Jörg war krank. Er ist nach Hause gekommen. (als) 

1x5=5 

 Section D -Textbook 
(20 marks) 

 

XI EINLADUNG 

Liebe Schülerinnen und Schüller, Liebe Lehrerinnen und Lehrer, 
Liebe Eltern! 
Unsere Schule wählt einen neuen Kantinenleiter. Deshalb wollen 
wir am 14.5 und 15.5 Jeweils um 13.00 Uhr ein Testessen machen. 
Dazu laden wir Schüler, Lehrer und Eltern ein. 12 Personen (vier 
aus jeder gruppe) können mitmachen, die Teilnehmer bestimmt 
das los. Wir wünschen alle viel Glück!    
Und so funktioniert unser Testessen: Jeder Teilnehmer probiert 
jedes Gericht! Danach füllt sie/er einen Fragebogen aus. 
Interessiert? Dann gleich anmelden unter: www.gbs.de/testessen 
oder einfach anrufen unter 0221 51246373. Anmeldschluss 10.5. 
Guten Appetit. 
 
Rosemarie Gassner 
Direktorin, Gutenbergschule 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

http://www.gbs.de/testessen
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A. Beantworte die Fragen: 
a. Wer hat die Einladung geschrieben? An wen? 
b. Warum gibt es ein Testessen in der Schule? 
c. Wann findet das Testessen statt? 
d. Was machen das Testesser? 
e. Wie kann Man sich für das anmelden? 

 
B. Such aus dem Text: 

a. Lehrperson 
b. Lehrende 
c. Hunger 
d. Telefonieren 

 

 
2 
1 
1 
1 
1 
 
1x4=4 

XII Füllen Sie die Lücken mit den richtigen Alternativen aus der 
Liste aus: 

 

Schüler, Qualität, Noten, Testesser, lacht, glaubt, 
Kartoffelsuppe, Essen, schmeckt, Hause 

 
Großes Testessen für Schulkantinen in Köln 
Lehrer, ___________ und Eltern probieren in vielen Schulen in 
Köln Alternativen zum bisherigen Kantinenangebot und geben 
_______ von 1 bis 6 für Aussehen, Geschmack und __________der 
neuen Gerichte. Auf die Frage, wo es denn besser__________, zu 

Hause oder in der Kantine, sieht _________Robin Hörmann in der 
Gesamtschule Rodenkirchen erst kurz zu seiner Mutter Sandra. 
Sie ist auch Testesserin und vom neuen Schulessen positiv 
überrascht. „Genauso gut wie zu___________“, sagt Robin dann, 
und seine Mutter_______: „Er hat total recht!“ Jeder_________, 
dass Kinder und Jugendliche Pommes und Pizza lieben, also eher 
die fetten, nicht sehr gesunden Gerichte. Aber das stimmt nicht. 
Auf den Fragebögen der Testesser sieht man, dass gesunde 
Gerichte wie Karotten oder _____________den Schülern ebenso 
gut schmecken wie Pommes oder Nudeln mit Soße. Nur frisch 
müssen die Zutaten sein, gut gekocht und schön serviert! „Unser 
Essen soll immer besser werden“, sagt auch Rosemarie Gassner 
von der Gutenbergschule. „Da helfen uns die ehrlichen 
Antworten unserer Testesser sehr. Und für gutes _________zahlen 
die meisten Eltern gern ein bisschen mehr nach dem Motto: 
„Lieber gut als nur günstig.“ 

 

1X10=10 
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lkekU; funsZ”k %&  bl ç”ui= esa nks [kaM gSa & [kaM ^v^ vkSj ^c^A 
 [kaM ^v^ esa miç”uksa lfgr 45 oLrqijd ç”u iwNs x, gSaA fn, x, funsZ”kksa dk ikyu djrs gq, dqy 40 

ç”uksa ds mÙkj fy[ksaA  [kaM ^c^ esa o.kZukRed ç”u iwNs x, gSa] vkarfjd fodYi Hkh fn, x, gSaA 
 funsZa”kksa dks cgqr lko/kkuh ls if<+, vkSj mudk ikyu dhft,A  nksuksa [kaMksa ds dqy 18 ç”u gSaA nksuksa [kaMksa ds ç”uksa ds mRrj nsuk vfuok;Z gSA 
 ;FkklaHko nksuksa [kaMksa ds ç”uksa ds mÙkj ;FkkØe ¼Øe”k%½ fy[ksaA 

 
[kaM & ^v^ ¼oLrqijd ç”u½ 

 
ç”u 1- fuEufyf[kr x|ka”k dks /;kuiwoZd i<+dj blds vk/kkj ij lokZf/kd mi;qDr mÙkj okys fodYi pqudj  

fyf[k, &            ¼1x5¾5½ 
*rsrs ik¡o ilkfj, tsrh yk¡ch lkSj * okyh dgkor cM+h lkFkZd gSA Hkfo’; dks lq[ke; cukus d fy, 

;g vko”;d gS fd vk; dk ,d va”k fu;fer :Ik ls cpk;k tk, ftlls vkxs vkus okyh vko”;drkvksa dh 
iwfrZ ljyrk ls gks lds A bl rjg lhfer [kpZ djus okyk O;fDr ferO;;h dgykrk gSA vuko”;d O;; 
djds tks O;fDr /ku dk nq:Ik;ksx djrk gS og fQ+twy[kpZ ekuk tkrk gSA euq’; ds thou esa tks vknrsa 
cpiu esa iM+ tkrh gSa os fdlh u fdlh :Ik esa thou Hkj cuh jgrh gSa blfy, cpiu ls gh ferO;f;rk 
vkSj cpr dh vknrkas dk fodkl vko”;d gSA dqN ckyd tsc [kpZ ds fy, feys /ku ls Hkh cpr djrs 
gSaAiSlk cpkdj viuh xqYyd tYnh & tYnh Hkjus dh muesa gksM+ yxh jgrh gSA dgk Hkh x;k gS fd ,d 
,d & ,d cw¡n ls lkxj Hkjrk gS vkSj ,d & ,d iSlk ,d= djus ls /ku lap; gksrk gSA ns”k ds vkfFkZd ] 
lkekftd vkSj vkSn~;ksfxd fodkl ds fy, “kklu dks /ku pkfg, A /ku çkIr djus ds lk/kuksa esa turk ij 
yxk, x, dj] ljdkjh mn~;ksxksa dk mRiknu ] fu;kZr vkfn eq[; gSaA ,d vU; egRRoiw.kZ lk/ku cSadks a rFkk 
Mkd?kjksa esa lafpr og /kujkf”k gS] ftls ukxfjd jk’Vªh; cpr ;kstukvksa ds varxZr tek djrs gSaA jk’Vªh;  
fodkl ds dk;ZØeksa esa “kklu bl lafpr /kujkf”k dk mi;ksx ljyrk ls djrk gSA”kklu dh vksj ls uxjksa 
vkSj xk¡oksa esa cSadkas vkSj Mkd?kjksa dh “kk[kk,¡ [kksyh xbZ gSaA buesa ckyd & ckfydkvksa vkSj cM+h mez ds yksxksa 
dks cpr dk /ku tek djus dh lqfo/kk nh tkrh gSA bl fn”kk esa Mkd?kjksa dh lsok,¡ fo”ks’k :Ik ls 
mYys[kuh; gSaA 

 
¼1½ vk; ds ,d va”k dks fu;fer :Ik ls cpkus ls D;k ykHkgS\  

 ¼d½ vkxs vkus okyh vko”;drkvksa dh iwfrZ ljyrk ls gks tkrh gSA     
¼[k½ vkxs vkus okyh vko”;drkvksa ls cpk tk ldrk gSA  
¼x½ vius lq[kksa dh iwfrZ dh tk ldrh gSA 
¼?k½ viuh bPNkvksa dh iwfrZ ugha dh tk ldrh gSA 

 
¼2½ cpr vkSj lap; dh dqath fdls dgk x;k gS\ 
¼d½ [kpZ djus dks  
¼[k½ viO;; djus dks 
¼x½ ferO;f;rk dks  
¼?k½ O;; vf/kd djus ds fy,  
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¼3½ fQtwy[kpZ fdls ekuk x;k gS\ 
¼d½ ferO;f;rk dks 
¼[k½ vuko”;d [kpZ dks   
¼x½ cpr dks  
¼?k½ lap; dks  

 
¼4½ ,d & ,d cw¡n ls lkxj Hkjrk gS & dFku ls rkRi;Z gS\ 
¼d½ ikuh dh cw¡ns ,d= djuh pkfg,A 
¼[k½ lkxj fo”kky gksrk gSA 
¼x½ ,d & ,d iSlk ,d= dj /ku lap; gksrk gSA 
¼?k½ /ku dk nq:Ik;ksx djusokyk fQtwy[kpZ ekuk tkrk gSA  

   
¼5½ fuEufyf[kr dFku ¼A½ vkSj dkj.k ¼R½ dks i<+dj mfpr fodYi Nk¡Vdj mÙkj fyf[k,A 
dFku ¼A½ % “kklu n~okjk cSadkas vkSj Mkd?kjksa dh “kk[kk,¡ [kksydj cpr dk /ku tek djus çksRlkfgr fd;k 
tkrk gSA 
dFku ¼B½ % ns”k ds vkfFkZd ] lkekftd vkSj vkSn~;ksfxd fodkl ds fy, “kklu dks /ku pkfg,A 
¼d½ dFku ¼A½ rFkk dkj.k ¼R½ nksuksa xyr gaSA   
¼[k½ dFku ¼A½ xyr gS ysfdu dkj.k ¼R½ lgh gaSA 
¼x½ dFku ¼A½ lgh gS ysfdu dkj.k ¼R½ mldh xyr O;k[;k djrk gSA  
¼?k½ dFku ¼A½ rFkk dkj.k ¼R½ nksuksa lgh gSaA 

 
 
ç”u 2- fuEufyf[kr x|ka”k dks /;kuiwoZd i<+dj blds vk/kkj ij lokZf/kd mi;qDr mÙkj okys fodYi Nk¡Vdj  

fyf[k, &            ¼1x5¾5½ 
jk’Vªh; ,drk dk vFkZ gS fd ns”k ds lHkh ukxfjd pkgs os fdlh Hkh laçnk;] tkfr] /keZ] Hkk’kk vFkok 

{ks= ls lacaf/kr gksa] bu lc lhekvksa ls Åij mBdj bl lewps ns”k ds çfr oQ+knkj vkSj vkReh;rkiw.kZ gksa 
Ablds fy, ;fn mudks vius futh LokFkZ vFkok lewg ds LokFkZ dk Hkh R;kx djuk iMs+ rks mlds fy, mUgsa 
rS;kj jguk pkfg, vkSj muds fy, ns”k dk fgr loksZifj gksuk pkfg, A dHkh & dHkh rks yxrk gS fd ns”k 
dh Lora=rk ds ckn ge jk’Vªh; ,drk ls foeq[k gksdj jk’Vªh; fo?kVu dh vksj vxzlj gks jgs gSaA Lora=rk 
ls igys xka/kh th ds usrR̀o esa iwjk ns”k ,d gksdj vaxzsth lkezkT; ds fo:n~/k yM+k FkkA ijarq mlds ckn 
iqu% ge /keZ] Hkk’kk] {ks=h;rk ds uke ls vkilh >xM+ksa esa my> x, gSaA dbZ ckj ,slk yxrk gS fd gekjs ns”k 
esa vlfe;k] caxkyh] iatkch] ejkBk] enzklh bR;kfn rks gSa] ij Hkkjrh; fcjys gh gSaA gekjk ns”k çkphu dky 
ls gh fofHkUu /keksZa] laçnk;ksa] fopkj/kkjkvksa rFkk ijaijkvksa dk leUo; & LFky jgk gS ijarq vk/kqfud dky esa 
tc ls fofHkUu /keksZa vkSj laçnk;ksa esa vyxko gksus yxk] ikjLifjd n~os’k] ?k̀.kk vkSj la?k’kZ c<+us yxk] rHkh 
jk’Vª çR;sd n`f’V ls detksj gksus yxkA  
 
¼1½ jk’Vªh; ,drk dk D;k vFkZ gS\ 
¼d½ ijLij fojks/kh tkfr;ksa dk ,d gksuk  
¼[k½ fofHkUu Hkk’kk & Hkkf’k;ksa esa ,d & nwljs dh Hkk’kk ds çfr yxko gksuk  
¼x½ ,d & nwljs ds /kkfeZd LFkyksa ds çzfr Jn~/kk & Hkko gksuk  
¼?k½ lHkh HksnHkkoksa dks Hkwydj ns”k esa ,drk cuk, j[kuk 

 
¼2½ *ns”k dk fgr loksZifj gksuk* & dFku dk D;k rkRi;Z gS\ 
¼d½ viuk dke NksM+dj dsoy ns”k & lsok  
¼[k½ ns”k ds fy, viuh fç; oLrq dk cfynku  
¼x½ ns”k ds fy, futh ,oa lewg ds LokFkksZa dk R;kx  
¼?k½ jk’Vªh; ,drk ls foeq[k gksuk A 
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¼3½ ys[kd dks D;ksa yxrk gS fd ge jk’Vªh; fo?kVu dh vksj c<+ jgs gSa\ 
¼d½ ukxfjdksa ds vkil esa >xM+us ds dkj.k  
¼[k½ LokFkZ esa fyIr gksus ds dkj.k 
¼x½ /keZ] Hkk’kk vkSj {ks=h;rk ds uke ij vkilh >xM+ksa ds dkj.k  
¼?k½ buesa ls dksbZ ugha  
 
¼4½ ys[kd ds vuqlkj jk’Vª detksj D;ksa gks jgk gS\ 
¼d½ lkaçnkf;d vyxko] n~os’k vkSj ?k̀.kk ds dkj.k  
¼[k½ ijaijkvksa ds leUo; ds dkj.k 
¼x½ jk’Vªh; ,drk ds dkj.k 
¼?k½ Hkk’kkvksa ds dkj.k  

 
¼5½ fuEufyf[kr dFku ¼A½ vkSj dkj.k ¼R½ dks i<+dj mfpr fodYi Nk¡Vdj mÙkj fyf[k,A 
dFku ¼A½ % gekjk ns”k çkphu dky ls fofHkUu /keksZa] laçnk;ksa] fopkj/kkjkvksa rFkk ijaijkvksa dk leUo; & 
LFky jgk gSA 
dkj.k ¼R½ % ge /keZ ] Hkk’kk] {ks=h;rk ds uke ij >xM+rs jgs gSaA 
¼d½ dFku ¼A½ rFkk dkj.k ¼R½ nksuksa xyr gaSA   
¼[k½ dFku ¼A½ xyr gS ysfdu dkj.k ¼R½ lgh gaSA 
¼x½ dFku ¼A½ lgh gS ysfdu dkj.k ¼R½ mldh xyr O;k[;k djrk gSA  
¼?k½ dFku ¼A½ rFkk dkj.k ¼R½ nksuksa lgh gSaA 

 
ç”u 3- funsZ”kkuqlkj ^inca/k^ ij vk/kkfjr ik¡p cgqfodYih; ç”uksa esa ls fdUgha pkj ç”uksa ds mÙkj fy[ksa & ¼1x4¾4½ 

 
¼1½ lnk lp cksyus okyk og vkt fdl dkj.k >wB cksyus ij etcwj D;ksa gks x;k gSA js[kkafdr inca/k dk 

Hksn gS& 
 ¼d½ laKk inca/k    ¼[k½ loZuke inca/k   

¼x½ fo”ks’k.k inca/k    ¼?k½ fØ;k inca/k 
 
¼2½ lqanj eq[kM+s okyk O;fDr ?kwe jgk gSA bl okD; esa fo”ks’k.k inca/k gksxk & 

 ¼d½ ?kwe jgk gS     ¼[k½ O;fDr   
¼x½ lqanj eq[kM+s okyk    ¼?k½ eq[kM+s 
 
¼3½ bu Qyksa dh feBkl vn~Hkqr gSA & js[kkafdr inca/k dk Hksn gS& 

 ¼d½ laKk inca/k     ¼[k½ loZuke inca/k   
¼x½ fo”ks’k.k inca/k     ¼?k½ fØ;k & fo”ks’k.k inca/k 
 
¼4½ pkthu us pk; rS;kj djds gekjs lkeus j[k nh A js[kkafdr inca/k dk Hksn gS& 

 ¼d½ laKk inca/k     ¼[k½ fØ;k inca/k   
¼x½ loZuke inca/k     ¼?k½  fo”ks’k.k inca/k 
 
¼5½ Nk= /khjs & /khjs i<+ jgk FkkA & js[kkafdr inca/k dk Hksn gS& 

 ¼d½ fØ;k inca/k     ¼[k½ fo”ks’k.k inca/k   
¼x½ fØ;k & fo”ks’k.k inca/k    ¼?k½  laKk inca/k 
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ç”u 4- funsZ”kkuqlkj ^jpuk ds vk/kkj ij okD; :ikarj.k ^ ij vk/kkfjr ik¡p cgqfodYih; ç”uksa esa ls fdUgha pkj 

ç”uksa ds mÙkj nhft, &          ¼1x4¾4½ 
 
¼1½ fuEufyf[kr okD;ksa esa ls ljy okD; Nk¡fV, & 

 ¼d½ tc eksgu us ç”u fd;k rc “;ke us mRrj fn;k A 
 ¼[k½ eksgu us ç”u fd;k vkSj “;ke us mRrj fn;k A 

¼x½ eksgu ds ç”u dk mRrj “;ke us fn;k A 
¼?k½ “;ke us mRrj fn;k D;ksafd eksgu us ç”u fd;kA  
 
¼2½ tgk¡ igys taxy Fkk ogk¡ cfLr;k¡ cu xbZ gSaA & jpuk ds vkk/kkj ij okD; & Hksn gS& 

 ¼d½ feJ okD;  
 ¼[k½ la;qDr okD;  

¼x½ ljy okD;  
¼?k½ miokD;  
 
¼3½ lw;ksaZn; gqvk vkSj i{kh pgpgkus yxs A & jpuk ds vk/kkj ij okD; & Hksn gS& 

 ¼d½ ljy okD; 
 ¼[k½ la;qDr okD; 

¼x½ feJ okD; 
¼?k½ buesa ls dksbZ ughsa 
 
¼4½ tks O;fDr ifjJe djrk gS] mls lQyrk feyrh gSA& jpuk ds vk/kkj ij okD; & Hksn gS& 

 ¼d½ ljy okD; 
 ¼[k½ la;qDr okD; 

¼x½ feJ okD; 
¼?k½ fo/kkuokpd  
 
¼5½ rrk¡jk fnUkHkj ds vFkd ifjJe ds ckn leqnz fdukjs Vgyus pyk x;k A & jpuk ds vk/kkj ij okD;    
    & Hksn gS& 

 ¼d½ ljy okD; 
 ¼[k½ la;qDr okD; 

¼x½ feJ okD; 
¼?k½ miokD;  
 

ç”u 5- funsZ”kkuqlkj *lekl* ij vk/kkfjr ik¡p cgqfodYih; ç”uksa esa ls fdUgha pkj ç”uksa ds mÙkj nhft, & ¼1x4¾4½ 
 
¼1½ *Øks/kkfXu “kCn @ leLrin fdl lekl dk mnkgj.k gS\ 

 ¼d½ deZ/kkj; lekl 
 ¼[k½ rRiq:’k lekl 

¼x½ vO;;h Hkko lekl  
¼?k½ n~foxq lekl  
 
¼2½ *iwtk* & vpZuk* lkekfld “kCn dk foxzg vkSj Hksn gS& 

 ¼d½ iwtk vkSj vpZuk & f}xq lekl  
 ¼[k½ iwtk vkSj vpZuk & n~oan~o lekl  

¼x½ iwtk ;k vpZuk & f}xq lekl  
¼?k½ iwtk dh vpZuk & rRiq:’k lekl  
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¼3½ *ftruk “kh?kz gks lds* & bldk leLrin vkSj lkekfld Hksn gksxk & 
 ¼d½ vfr “kh?kz & rRiq:’k lekl  
 ¼[k½ vfr vkSj “kh?kz & n~foxq lekl  

¼x½ ;Fkk”kh?kz & vO;;hHkko lekl  
¼?k½ rqjar “kh?kz & deZ/kkj; lekl  
 
¼4½ * uhyxxu * dk lekl & foxzg vkSj Hksn gksxk& 

 ¼d½ uhyk gS tks xxu & deZ/kkj; lekl  
 ¼[k½ xxu gS uhyk & n~oan~o lekl  

¼x½ uhyk vkSj xxu & rRiq:’k lekl  
¼?k½ uhyk ugha gS xxu & vO;;hHkko lekl 
 
¼5½ * jk/kk & d̀’.k * dk lekl & foxzg vkSj Hksn gksxk & 

 ¼d½ jk/kk ds fy, d`’.k* & rRiq:’k lekl  
 ¼[k½ jk/kk vkSj d̀’.k* & n~oan~o lekl  

¼x½ jk/kkd`’.k & vO;;hHkko lekl * 
¼?k½ jk/kk ds fcuk d`’.k & cgqozhfg lekl  
 

ç”u 6- funsZ”kkuqlkj *eqgkojksa * ij vk/kkfjr Ng cgqfodYih; ç”uksa esa ls fdUgha pkj ç”uksa ds mÙkj nhft,&    
                                                                                        ¼1x4¾4½ 

 
¼1½ eqgkojs vkSj vFkZ ds mfpr esy okys fodYi dk p;u dhft, & 

 ¼d½ rwrh cksyuk & eqlhcr esa Qaluk  
 ¼[k½ yksgk ekuuk & dfBu dke djuk  

¼x½ vkM+s gkFkksa ysuk & dBksjrkiwoZd O;ogkj @ fa[kapkbZ djuk  
¼?k½ VwV iM+uk & dke “kq: djuk  
 
¼2½ vius iM+ksl esa dksjksuk ejht dh [kcj lqurs gh ge lcds &&&&& A fjDr LFkku gsrq mfpr eqgkojs  

dk p;u djsaA 
 ¼d½ çk.k lw[k x,  
 ¼[k½ nhokj [kM+h gksuk  

¼x½ ?kko ij ued fNM+duk  
¼?k½ vk¡[ksa QksM+uk  
 
¼3½ * ?kM+ksa ikuh iM+uk * eqgkojs dk vFkZ gS&  

 ¼d½ ikuh esa Hkhx tkuk  
 ¼[k½ ?kM+s esa ikuh Hkjuk  

¼x½ ?kM+k VwV tkuk  
¼?k½ cgqr yfTtr gksuk 
 
¼4½ * vfr ljy dk;Z * &vFkZ ds fy, ç;qDr eqgkojk gS& 

 ¼d½ ck,¡ gkFk dk [ksy  
 ¼[k½ igkM+ gksuk  

¼x½ nky u xyuk  
¼?k½ jkbZ dk igkM+ cukuk  
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¼5½ Nk=ksa n~okjk vuq”kklu Hkax fd, tkus ij v/;kid &&&& x, A fjDr LFkku gsrq mfpr eqgkojs dk 
p;u djsaA 

 ¼d½ /kwy >ksaduk  
 ¼[k½ vk¡[kksa dk rkjk  

¼x½ vkx ccwyk gksuk  
¼?k½ yV~Vw gksuk  
 
¼6½ * v;ksX; dks dksbZ egRoiw.kZ oLrq feyuk * & vFkZ ds fy, ç;qDr eqgkojk gksxk & 

 ¼d½ nk¡rksa rys m¡xyh nckuk  
 ¼[k½ va/ks ds gkFk cVsj yxuk  

¼x½ va/ks dh ykBh cuuk  
¼?k½ gkFk & ik¡o Qwy tkuk  
 

ç”u 7- fuEufyf[kr in~;ka”k dks i<+dj fn, x, ç”uksa ds mÙkj lgh fodYi Nk¡Vdj nhft, &   ¼1x5¾5½ 
   

fuand usM+k jkf[k;s ] vk¡xf.k dqVh c¡/kkbA 
  fcu lkc.k ik¡.kha fcuk] fujey djS lqHkkbAA 
  iksFkh if<+ if<+ tx eqok ] iafMr Hk;k u dksbA  

,sdS vf’kj iho dk ] i<S+ lq iafMr gksb AA 
 

¼1½ fuand dks dgk¡ j[kus dks dgk x;k gS\ 
 ¼d½ vk¡xu ls ckgj dqfV;k cukdj   

¼[k½ vk¡xu esa dqfV;k cukdj     
¼x½ fueZy ds lkFk    
¼?k½ lkcqu & ikuh ds lkFk 

 
¼2½ fuand D;k djrk gS\ 

 ¼d½ usM+k cukrk gS  
¼[k½ lkcqu & ikuh nsrk gS   
¼x½ iksFkh i<+rk gS   
¼?k½ gekjk vkpj.k @LoHkko fueZy djrk gS 

 
¼3½ iafMr gksus dk D;k vFkZ gS\ 

 ¼d½ iwtk & ikB esa dq”ky gks tkuk   
¼[k½ iqLrdksa dk Kku gks tkuk    
¼x½ lk/kuk esa ikjaxr gks tkuk    
¼?k½ okLrfod Kkuh gksuk  

 
¼4½ lPps vFkksZa esa Kkuh fdls dgk tk ldrk gS\ 

 ¼d½ ftlds g~n; esa bZ”oj @LkHkh ds çfr çse gks   
¼[k½ ftls “kkL=ksa dk Kku gks    
¼x½ tks lcdks f”k{kk ns    
¼?k½ ftls i<+uk & fy[kuk vkrk gks  

 
¼5½ mi;ZqDr nksgs fdl Hkk’kk esa fy[ks x, gSa\ 

 ¼d½ Qkjlh   
¼[k½ l/kqDdM+h @ipesy f[kpM+h    
¼x½ Hkkstiqjh    
¼?k½ czt Hkk’kk 
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ç”u 8- fuEufyf[kr ç”uksa ds mÙkj nsus ds fy, mfpr fodYi dk p;u dhft, &    ¼1x2¾2½ 
 

¼1½ Jh d̀’.k us nzkSinh dh ykt dSls cpkbZ Fkh \ 
 ¼d½ mls egy esa “kj.k nsdj   

¼[k½ mlds oL=ksa dks c<+kdj  
¼x½ mls Hkkstu nsdj    
¼?k½ mls tkxhj nsdj  
 
¼2½ ehjk d̀’.k ls D;k çkFkZuk djrh gSa\ 

 ¼d½ eq>s Mwcus ls cpkb,  
¼[k½ ujgfj dk :Ik /kkj.k dhft,  
¼x½ xtjkt dks cpkb,  
¼?k½ esjs d’Vksa dks nwj dhft,  
 
 

ç”u 9- fuEufyf[kr xn~;ka”k dks i<+dj fn, x, ç”uksa ds mÙkj lgh fodYi Nk¡Vdj nhft, &  ¼1x5¾5½ 

esjk th i<+us essa fcydqy u yxrk Fkk A ,d ?kaVk Hkh fdrkc ysdj cSBuk igkM+ FkkA ekSdk ikrs gh 
gksLVy  ls fudydj eSnku esa vk tkrk vkSj dHkh dadfj;k¡ mNkyrk] dHkh dkxt dh frrfy;k¡ mM+krk vkSj 
dgha dksbZ lkFkh fey x;k ] rks iwNrk gh D;k A dHkh pkjnhokj ij p<+dj uhps dwn jgsa gSaA dHkh QkVd ij 
lokj ] mls vkxs & ihNs pykrs gq, eksVjdkj dk vkuan mBk jgs gSa] ysfdu dejs esa vkrs gh HkkbZ lkgc dk 
og :nz & :Ik ns[kdj çk.k lw[k tkrs A mudk igyk loky ;g gksrk & *dgk¡* Fks*\ ges”kk ;gh loky ] 
blh /ofu esa ges”kk iwNk tkrk Fkk vkSj bldk tokc esjs ikl dsoy ekSu FkkA u tkus esjs eq¡g ls ;g ckr 
D;ksa u fudyrh fd t+jk ckgj [ksy jgk FkkA esjk ekSu dg nsrk Fkk fd  eq>s viuk vijk/k Lohdkj gS vkSj 
HkkbZ lkgc ds fy, mlds flok vkSj dksbZ bykt u Fkk fd Lusg vkSj jks’k ls feys gq, “kCnksa ls esjk lRdkj 
djasA 
 
¼1½ fuEufyf[kr esa dkSu & lk dFku ys[kd ds LoHkko ls esy ugha [kkrk gS\ 

 ¼d½ mudh [ksydwn esa vf/kd :fp Fkh  
¼[k½ os ?kaVksa fdrkc ysdj cSBs jgrs Fks  
¼x½ mUgsa fe=ksa dk lkFk fç; Fkk  
¼?k½ os HkkbZ lkgc ls Mjrs @ vknj djrs Fks 
 
¼2½ ys[kd ds ekSu jg tkus dk vFkZ D;k gksrk Fkk\ 

 ¼d½ og HkkbZ lkgc ls ckr ugha djuk pkgrs  
¼[k½ og i<+kbZ ugha djuk pkgrs  
¼x½ mUgsa viuk vijk/k Lohdkj gS  
¼?k½ mUgsa viuk vijk/k Lohdkj ugha gS 

 
¼3½ xn~;ka”k esa ç;qDr fdl eqgkojs dk vFkZ gS & cgqr vf/kd Mj tkuk & 

 ¼d½ çk.k lw[k tkuk  
¼[k½ QkVd ij lokj gksuk  
¼x½ igkM+ gksuk  
¼?k½ dadfj;k¡ mNkyuk  

 
¼4½ dgk¡ Fks \ & HkkbZ lkgc ys[kd ls ;g loky dc djrs Fks\ 

 ¼d½ tc ys[kd i<+dj vkrs Fks 
¼[k½ tc ys[kd ?kaVksa [ksy dj vkrs Fks  
¼x½ tc ys[kd Ldwy ls vkrs Fks  
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¼?k½ tc ys[kd lksrs jgrs Fks  
 
¼5½ fuEufyf[kr dFku & dkj.k dks i<+dj mfpr fodYi dk p;u dhft, A 
dFku ¼A½ % ys[kd dk th i<+kbZ esa fcYdqy u yxrk A 
dkj.k ¼R½ % HkkbZ lkgc dks ns[kdj muds çk.k lw[k tkrs A 
¼d½ dFku ¼A½ lgh gS] dkj.k ¼R½ mldh lgh O;k[;k djrk gSA  
¼[k½ dFku ¼A½ lgh ugha gS] dkj.k ¼R½ lgh gSA 
¼x½ dFku ¼A½ lgh gS] fdarq dkj.k ¼R½ mlls esy ugha [kkrkA 
¼?k½ dFku ¼A½ xyr gS] dkj.k ¼R½ lgh gSA 

 
ç”u 10- fuEufyf[kr ç”uksa ds mÙkj nsus ds fy, mfpr fodYi dk p;u dhft, &   ¼1x2¾2½ 
 

¼1½ eksuqesaV dks Hkksj ls gh iqfyl us D;ksa ?ksj fy;k Fkk \ 
 ¼d½ rkfd Lora=rk fnol dk vk;kstu lQy gks lds  

¼[k½ rkfd Lora=rk fnol dk vk;kstu lQy u gks lds  
¼x½ rkfd >aMk Qgjk;k tk lds  
¼?k½ rkfd Lora=rk çkIr gks lds  
 
¼2½ rrk¡jk dSlh iks”kkd igudj jgrk Fkk\ 

 ¼d½ lk/kkj.k iks”kkd  
¼[k½ ikjaifjd iks”kkd 
¼x½ tknqbZ iks”kkd 
¼?k½ foy{k.k iks”kkd 

 
 

[kaM & ^c^ ¼o.kZukRed ç”u½ 
 

ç”u 11- ikB~;iqLrd *Li”kZ * ds ifBr ikBksa ds vk/kkj ij fuEufyf[kr ç”uksa esa ls fdUgha nks ç”uksa ds mÙkj  yxHkx 
60 “kCnksa esa fyf[k, &          ¼3x2¾6½ 

¼d½ ifjokj ds vuqHkoh lnL; n~okjk nh xbZ lh[k Hkfo’; & fuekZ.k esa lgk;d fln~/k gksrh gSA * cM+s HkkbZ 
lkgc * ikB ds vkyksd esa dFku dks fln~/k dhft,A 

¼[k½ *Mk;jh dk ,d iUuk * ikB ls vkidks D;k lh[k feyrh gS\ 
¼x½ vkius yksddFkk ij vk/kkfjr ,d dgkuh i<+h gSA ;g dgkuh lekt dh folaxfr;ksa dks nwj djus dk 

lans”k nsrh gSA dFku dk ewY;kadu djrs gq, vius fopkj fyf[k,A   
 

ç”u 12- ikB~;iqLrd *Li”kZ * dh ifBr dforkvksa ds vk/kkj ij  fuEufyf[kr ç”uksa esa ls fdUgha nks ç”uksa ds mÙkj  
yxHkx 60 “kCnksa esa fyf[k, &         ¼3x2¾6½ 
¼d½ bZ”oj vius HkDrksa dh j{kk djrs gSa vkSj HkDr iwjs vf/kdkj ls çHkq ls f”kdk;r Hkh djrs gSaA ehjk us d̀’.k 

dks muds drZO; fdl çdkj ;kn fnyk, gSa\  
¼[k½ bZ”oj d.k & d.k esa O;kIr gS ij ge mls D;ksa ugha ns[k ikrs \ 
¼x½ ehjk us Jh d`’.k ds :Ik & lkSan;Z dk o.kZu dSls fd;k gS\ 
 

ç”u 13- fuEufyf[kr ç”uksa esa ls fdUgha nks ç”uksa ds mÙkj yxHkx 60 “kCnksa esa fyf[k, &  ¼3x2¾6½ 
 

¼d½ gfjgj dkdk vui<+ Fks ysfdu vius vuqHko vkSj foosd ls nqfu;k dks csgrj le>rs FksA bl dFku dks 
mnkgj.k lfgr Li’V dhft,A 

¼[k½ Bkdqjckjh dh LFkkiuk ds laca/k esa xk¡o esa D;k dgkuh çpfyr Fkh\ 
¼x½ egar th us gfjgj dkdk dks ,dkar esa cSBdj D;k le>k;k\ 
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ç”u 14- fuEufyf[kr esa ls fdlh ,d fo’k; ij ladsr fcUnqvksa ds vk/kkj ij yxHkx 100 “kCnksa esa vuqPNsn  

fyf[k, &           ¼5x1¾5½ 
 
¼d½ ij mins”k dq”ky cgqrsjs   

Lakdsr & fcanq &  yksdksfDr dk vFkZ  
 mnkgj.k     vkn”kZ fLFkfr 

 
¼[k½ esjh dYiuk dk Hkkjr    

Lakdsr & fcanq & 
 çkphu Hkkjr   orZeku dh leL;k,¡   
 lq/kkj ds mik;  

 
¼x½ lkfgR; lekt dk niZ.k     

Lakdsr & fcanq & 
 lkfgR; o lekt dk laca/k   ,d & nwljs dk çHkko    vkn”kZ fLFkfr 

 
ç”u 15- vius {ks= esa c<+rs vijk/kksa dh jksdFkke ds fy, Fkkuk/;{k dks yxHkx 100 “kCnksa esa i= fy[kdj fuosnu 

dhft,A           ¼5x1¾5½ 
vFkok 

vius {ks= esa lkoZtfud iqLrdky; [kqyokus dk fuosnu djrs gq, ftykf/kdkjh egksn; dks 100 “kCnksa esa i= 
fyf[k,A 
 

ç”u 16- vkids fon~;ky; esa vk;ksftr gksus okyh fganh okn &fookn çfr;ksfxrk ds laca/k esa Nk=k/;{k dh vksj ls  
yxHkx 60 “kCnksa esa lwpuk fyf[k,A         ¼4x1¾4½ 

 
vFkok 

vkidk fon~;ky; xzh’ekodk”k esa elwjh “kSf{kd Hkze.k dk vk;kstu dj jgk gSA çkpk;Z dh vksj ls bl ;k=k 
ls lacaf/kr lwpuk yxHkx 60 “kCnksa esa fyf[k,A 

 
ç”u 17-LoPNrk ds çfr tkx:drk QSykus ds fy, ljdkj dh vksj ls yxHkx 40 “kCnksa esa foKkiu rS;kj dhft, A 
             ¼3x1¾3½ 

vFkok 
 ;ksx dks c<+kok nsrs gq, 40 “kCnksa esa ,d vkd’kZd foKkiu rS;kkj dhft,A  
 
ç”u 18- * ijksidkj lcls cM+k /keZ * fo’k; ij yxHkx 100 “kCnksa esa y?kqdFkk fyf[k,A   ¼5x1¾5½ 

vFkok 
 ubZ psd cqd çkIr djus ds fy, bafM;u cSad ds çca/kd dks bZ esy fyf[k,A 
 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2023-24) 
 

 
 

Class - X                                                                             Subject – Information Technology  
Time – 2 Hours                                                   Maximum Marks - 50   

General Instructions:- 
Section-A: 24 multiple choice questions, total 24x1=24   Marks 
Section-B: 7 questions, each of 2 marks, total 7x2=14 marks 

Section-C: 3 questions, each of 4 marks, total 3x4=12 marks 
 

 

SECTION-A 

1. Multiple choice questions :       [24X1=24 Marks] 

(i) Which of the following is not an element of communication process cycle? 

(a) Time  (b) Receiver  (c) channel  (d) sender 

(ii) Which of the following is the ability to organise and monitor ones own behaviour? 

(a) Self regulation (b) punctuality (c) hard work (d) None of these 

(iii) Which of the following can be the beneficial to reduce stress? 

(a) Yoga  (b) Meditation (c) Both (a) and (b)  (d) None of these 

(iv) Which of the following is not a form of written communication? 

(a) Circulars  (b) Reports  (c) Discussion (d) SMS 

(v) Which of the following types of communication is not flexible and requires 

proficiency of sender? 

(a) Oral communication   (b) written Communication  

(c) Verbal communication    (d) Non-verbal communication  

(vi)  A _______ feedback talks about the whole thing while giving a general overview. 

(a) Formal  (b) Informal  (c) Specific  (d) Non-Specific 

(vii) __________ plays an important role in communication as it tells both sender and 

receiver, how the message was interpreted. 

(a) Media  (b) source  (c) courtesy  (d) feedback 

(viii) Which of the following is NOT an element of communication process cycle? 

(a) Channel  (b) Receiver  (c) Sender  (d) Time 

(ix) Joy is an example of ________ type of self-motivation. 

(a) Internal  (b) external  (c) intrinsic  (d) extrinsic 

(x) _______ is not a step for effective time management. 

(a) Properties (b) control  (c) Track  (d) postponing thing
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(xi) What makes you complete your work without others cheering you? 

(a) Self-confidence    (b) communication  

(c)  Self-motivation    (d) self-esteem 

(xii) Software that serves as an interface between user and computer is termed as: 

(a) Operating system   (b) Android 

(c)   Windows     (d) DOS 

(xiii)  A file deleted from pen drive in windows goes to __________ 

(a) Recycle bin    (b) Computer  

(c) Windows Explorer   (d) Permanently deleted  

(xiv)  A ___________ operating system is computing environment that reacts to input 

within a specific period of time. 

(a) Single user    (b) Multi-user 

(c) Real time     (d) Distributed  

(xv)  Which of the following function is not a way to protect data? 

(a) Password (b) Anti-virus and firewall (c) Secure sites (d) Trojan Horse 

(xvi) The official mascot of Linux operating system is _________ 

(a) Tux- the penguin (b) Camel (c) shark  (d) None of these 

(xvii) Which of the following is not a type of file system? 

(a) FAT  (b) MBR (c) NTFS (d) None of these 

(xviii) Which of the following is a feature of android? 

(a) Open source (b) Linux based (c) Restore  (d) None of these 

(xix) Which of the following is the latest version of android operating system? 

(a) Pie   (b) Android 13 (c) Lolipop  (d) None of these 

(xx) Which of the following options brings an image one layer above an object? 

(a) Bring forward  (b) bring above (c) bring to top  (d) none of these 

(xxi) Which of the following enables to improve the consistency of a document? 

(a) Styles  (b) Mail merge (c) images     (d) None of these 

(xxii) Which of the following is used to organise the structure of a page? 

(a) List styles  (b) Page styles (c) character styles (d) none of these 

(xxiii) Which of the following option anchors the image in the same position with respect to 

page margins? 

(a) To page  (b) To frame  (c) Keep image (d) None of these 

(xxiv) Which of the style include header and footers, border, margins? 

(a) Character style (b) Page style   (c) frame style (d) Presentation style 

 

SECTION-B (Short Answer type questions) 

2. Explain 7 C’s of communication.        [2] 

3. What are the measures should be taken to overcome from barriers? Explain [2] 
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4. What do you understand by the term self-awareness?  Describe its types.  [2] 

 

5. Explain any two techniques of stress management.     [2] 

6. How does operating system act as messenger between hardware and application 

 program?               [2]  

7. Write short notes on:         [2] 

(a) Real time O.S (b) open source O.S  (c) Taskbar  (d) CUI 

8. What are styles? What are the advantages of using styles?    [2] 

 

   SECTION-C (Long Answer type questions) 

9. Explain all the elements of communication cycle.     [4] 

10. Differentiate between Internal self awareness and external self awareness with example. 

            [4] 

11. Answer the following questions :  

(a) What is the full form of NTFS?       [1] 

(b) What is the purpose of Win+V shortcut key in windows operating system? [1] 

(c) What do you mean by file formats? Give two examples.    [2] 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION (2023-24) 
 

 
Class - X                                                                               Subject – Mathematics  
Time – 3 Hours                                                               Maximum Marks - 80 
   

 
General Instructions: 

1. This question paper contains - five sections A, B, C, D and E. Each section is compulsory. 
However, there are internal choices in some questions. 

2. Section A has 18 MCQ’s and 2 Assertion Reason based questions of 1 mark each. 
3. Section B has 5 Very Short Answer (VSA) type questions of 2 marks each. 
4.  Section C has 6 Short Answer (SA) type questions of 3 marks each. 
5.  Section D has 4 long answer (LA) type questions of five marks each. 
6.  Section E has 3 source based / case based / passage-based / integrated units of assessment (4 

marks  each) with sub-parts. 
 

Section A 

(Multiple Choice Questions) 
Each question carries 1 mark 

1. How many distinct prime factors of 7429 are there ? 

(a)  3                      (b) 4               (c) 5              (d) 6  

2.  The LCM of two numbers is 1200. Which of the following cannot be their HCF? 
(a) 600     (b) 500    (c) 400       (d) 200 

3.  The LCM and HCF of two rational numbers are equal , then the numbers must be : 

 (a)  prime   (b) co-prime   (c) composite   (d) equal 

4.  The decimal expansion of the rational number 
1250

14587
will terminate after : 

(a) One decimal place   (b) two decimal places   (c) three decimal places   (d) four decimal places 

5.  If one zero of the polynomial kxxkxf 413)4()( 22   is reciprocal of the other , then k ? 

(a) 2           (b) -2              (c) 1        (d) -1 

6.  If  and  are the zeroes of the polynomial cbxaxxf  2)( , then the value of 
22

11


 is :  

2

2 2
)(

a

acb
a


   

2

2 2
)(

c

acb
b


   

2

2 2
)(

a

acb
c



                
2

2 2
)(

c

acb
d


 

7. What should be added to the polynomial 452  xx , so that 3 is the zero of the resulting 
polynomial ? 

(a)   1    (b) 2       (c) 4      (d) 5 
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8. The value of k for which the system of equations 053  yx and 010  ykx has a non-zero 

solution, is : 
 (a) 0     (b) 2        (c) 6     (d)  8 

9.  The area of the triangle formed by the line 1
b

y

a

x
with the coordinate axes is : 

(a) ab        (b) ab2          (c) ab
2

1
     (d) ab

4

1
 

10. If the system of equations : 732  yx and 28)(2  ybaax has infinitely many solutions , then : 

(a) ba 2          (b) ab 2          (c) 02  ba    (d)  02 ba   

11. If ax  and by  is the solution of the systems of equations 2 yx and 4 yx , then the 

values of a and b are , respectively : 
(a) 3 and 1                   (b)  3 and 5               (c) 5 and 3    (d) -1 and -3 

12.  The perimeter of the triangle formed by the points (0,0) , (1,0) and (0,1) is :  

(a) 21                    (b) 12            (c) 3         (d) 22  

13. For what value of k, the points )3,3(),2,( kkkk and (3,1) are collinear : 

(a) 
3

5
  (b)  

3

5
             (c)  

5

3
      (d) None of the above  

14. The line segment joining points (-3,-4) and (1,-2) is divided by y – axis in the ratio : 
 (a) 1:3    (b) 2:3     (c) 3:1  (d)  3:2 
  
15.  If the centroid of the triangle formed by the points (a,b) , (b,c) and (c,a) is at the origin , then 

?333  cba  

    (a) abc    (b) 0           (c) cba               (d) abc3  

16. If ABC and DEF are similar triangles such that 047A and 083E , then ?C  

(a) 050       (b) 060    (c) 070   (d) 080  
 

17. If in ABC and DEF , 
FD

BC

DE

AB
 , then ABC is similar to DEF , when : 

(a) FA       (b) DA        (c) DB        (d) EB        
 

18. ABCD is a trapezium such that BC is parallel to AD and cmAB 4 . If the diagonals AC and BD 

intersect at O such that 
2

1


OB

DO

OC

AO
, then BC = ? 

(a)  7 cm     (b)  8 cm      (c)  9 cm       (d)  6 cm 
 

 
(ASSERTION - REASON BASED QUESTIONS) 

In the following questions a statement of Assertion (A) is followed by a statement of Reason 

(R). Choose the correct answer out of the following choices. 
a.  Both A and R are true and R is the correct explanation of A. 
b.  Both A and R are true, but R is not the correct explanation of A 
c.  A is true, but R is false. 
d.  A is false, but R is true. 
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19. Assertion (A): For any natural number  n   , n12 cannot end with  the digit 0 

Reason (R)     : For any natural number  n   , n12 can only end with  the digits 2 , 4 , 6 and 8. 

 20. Assertion (A)  : If a pair of linear equations in two variables is consistent , then the lines 
represented by two equations are parallel to each other . 

 
Reason (R)     : If a pair of linear equations in two variables : 0 cbyax  and 0 feydx is 

inconsistent , then 
f

c

e

b

d

a
  

 
SECTION B 

This section comprises of very short answer type questions (VSA) of 2 marks each.  

 
21. Find the HCF and LCM of 144, 180 and 192 by using prime factorization method . 

22. Prove that 3 3 is an irrational number .  

23. If  and  are the zeros of the quadratic polynomial 44)( 2  xkxxf such that 2422   , 

then find the value of ‘k’ . 
OR 

If  and  are the zeros of the quadratic polynomial 752)( 2  xxxf , then find a polynomial 

whose zeros are  32  and  23  . 

24. Find a quadratic polynomial , the sum and product of whose zeroes are 2 and 
2

3
 respectively. 

Also find its zeroes . 
25. Solve the following systems of equations by using the method of substitution : 

932  yx and 543  yx  

OR 

 Determine the value of ‘k’ so that the following linear equations have no solution: 

023)13(  yxk and 05)2()1( 2  ykxk  

 
SECTION C 

This section comprises of short answer type questions ( SA ) of 3 marks each 

 

26.  Show that there is no positive integer ‘n’ for which 11  nn is rational. 

27. Find the zeros of the polynomial 2
6

12  xx , and verify the relation between the coefficients and 

zeros of the polynomial. 

28. Solve the following system of linear equations graphically : 
1 yx and 82  yx . Shade the area bounded by these two lines and y-axis . Also , determine 

its area . 
 

29. Find the solution of the pair of equations 01
510


yx

and 15
68


yx
. Hence , find the value of 

 , if 5 xy  . 
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30. Find the coordinates of the centre of the circle passing through the points (0,0) , (-2,1) and (-3,2). 
Also , find its radius .  

       
OR 

Find the ratio in which the point (-3,p) divides the line segment joining the points (-5,-4) and       
(-2,3). Hence , find the value of p ? 

31. In the given figure , A,B and C are points on OP, OQ and OR respectively such that AB is parallel 
to PQ  and BC is parallel to QR , then prove that AC is parallel to PR . 

 
 

 
 
 

OR 

In the given figure , if BADE  , then show that ADE is similar to ABC . If AD =3.8 cm,  
AE =3.6 cm, BE = 2.1 cm and BC = 4.2 cm , then find the length DE . 
 

 
 

 
SECTION D 

This section comprises of long answer type questions ( LA ) of 5 marks each. 

 
32. The sum of a two digit number and the number formed by interchanging its digits is 110 . If 10 is 

subtracted from the first number , the new number is 4 more than 5 times the sum of the digits in 
the first number . Find the first number . 

OR 

Students of a class are made to stand in rows. If one student is extra in a row , there would be 2 
rows less . If one student is less in a row, there would be 3 rows more . Find the number of 
students in the class . 
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33. If the coordinates of the mid – points of the sides of a triangle are (1,2) , (0,-1) and (2,-1). Find the 
coordinates of its vertices. 
 

34. In the given figure, two poles of height ‘a’metres and ‘b’ metres are ‘p’ metres apart . Prove that 
the height of the point of intersection of the lines joining the top of each pole to the foot of the 

opposite pole is given by 
ba

ab


metres . 

 

 
OR 

In the given figure , CD and GH are respectively the medians of ABC and EFG . If ABC is similar 
to FEG , then prove that : 
 

 
 
 

(i) ADC is similar to FHG          [2] 

(ii)  
FE

AB

GH

CD


           [1]
 

(iii) CDB is similar to GHE          [2] 

 
35. State and prove : Basic proportionality Theorem (or Thales Theorem) .     [3] 

If in a ABC , a line DE is parallel to BC , intersects AB in D and AC in E , then prove that :

AE

AC

AD

AB


             [2]
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SECTION E 

This section comprises of 3 case - study / passage-based questions of 4 marks each with sub - 
parts. Marks allotted for each sub questions are indicated. 

 
36. Case - Study 1: Read the following passage and answer the questions given below. 
 

 
 
 
 
 
 
 
 
 
 
 

Three sets of English , Hindi and Mathematics books have to be stacked in such a way that all the 
books are stored topic wise and the height of each stack is the same . The number of English 
books is 96 , the number of Hindi books is 240 and the number of Mathematics books is 336 . 
Assume that the books are of same thickness . 
 
(i) Write the prime factorization of 96, 240 and 336.       [1] 
(ii)  Find the largest number that divides 96, 240 and 336 exactly.     [1] 
(iii) Determine the number of stacks of English , Hindi and Mathematics books .   [2] 

OR 
(iii) Taking a=96 , b=240 and c=336 , verify that : cbacbaHCFcbaLCM ..),,().,,(   

 
37. Case - Study 2: Read the following passage and answer the questions given below. 

 
 
In an examination hall , students are seated at some distance from each other , to maintain the 
sanctity of examination. Let three students sit at points A , B and C whose coordinates are (4,-3) , 
(7,3) and (8,5) respectively .  
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(i) Calculate the distance between A and C.        [1] 
(ii) Check whether the points A , B and C are collinear or not.     [1] 
(iii) If an invigilator is at the point I , lying on the straight line joining B and C such that it divides 

the distance between them in the ratio of 1:2 , then find the coordinate of I.   [2] 
 

OR 

(iii) Find the ratio in which I divides the line segment joining A and C. 
 38. Case - Study 3: Read the following passage and answer the questions given below. 

 
 

In the backyard of house , Shikha has some empty space in the shape of a PQR . She decided to 

make it a garden. She divided the whole space into three parts by making boundaries AB and CD 
using bricks to grow flowers and vegetables where AB , CD and QR are parallel to each other as 

shown in the figure . 
(i) Calculate the length of AB.          [1] 
(ii) Calculate the length of CD.          [1] 
(iii) Prove that  PAB is similar to PQR by using SAS similarity criteria.    [2] 

OR 
(iii) Prove that  PCD is similar to PQR by using AAA similarity criteria. 

 
 

  



 DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION (2023-24)  
 Class - X                                                                             Subject – Sanskrit 

Time – 3 Hours                                                               Maximum Marks- 80 
   

 
[k.M% ^d* 

vifBr&vocks/kue~ ¿10 vadk%À 
 

iz’u 1- v/kksfyf[kra x|ka’ka ifBRok funsZ’kkuqlkje~ mRrjrA        

ekuo% thous lq[ka okaNfrA lq[ka dq= vfLr dqr% ok izI;rs\ dspu eU;Urs /kusu lq[ka HkofrA v|Ros /kueso 
loZLoa tkre~A /kughu% i’kqleku% bR;so Hkkouk izcyk tkrk ijUrq /kfu”kq vfi lUrks”k% ukfLrA rs vf/kdkf/kda 
/kue~ bPNfUr vf/kdkf/kdk% p nq%f[ku% HkofUrA lUrks”kL;] d”VL; nq%[kL; ok gsrq% eu%A ;fn eu% izlUua Hkofr 
rnk lq[ka HkofrA eu% lUrks”ks.k izlUua Hkofr vU;Fkk ykylk o/kZrs lq[ka p u’;frA lUrks”k% izkI;rs R;kxr% 
ijksidkjr% pA ;nk /kua] cqf)% vU;L; dr̀s mi;qT;rs rnk vkuUn% HkofrA lkgk¸;izòfÙk% vLekda thouL; vaxe~ 
Hkosr~A vLekda O;ogkj% izhfriw.kZ% Hkosr~A rnk eu% lUrq”Va HkofrA eufl p ifjrq”Vs thoua Hkofr lq[ke;e~ 
vkuUniw.kZa pA 
 

1 ,dinsu mRrjrA          ¿ ½x4=2À 
d- lUrks”kL; gsrq% fde~\ 

[k- vLekda thouL; vaxe~ dk Hkosr~\ 

x- ekuo% thous fde~ okaNfr\ 

?k- vLekda O;ogkj% dhǹ’k% Hkosr~\ 
 

2 iw.kZokD;su mRrjrA          ¿ 2x2=4À 

d- eufl ifjrq”Vs thoua dhn’̀ka Hkofr\ 

[k- v|Ros /kufoghukuka d`rs dhn`’kh Hkkouk izcyk tkrk\ 
 

3 x|ka’kL; mfpra ‘kh”kZde~ fy[krA        ¿ 1x1=1À 
 

4 funsZ’kkuqlkje~ mRrjrA          ¿ 1x3=3À 

d- ^;fn eu% izlUua Hkofr* v= ^izlUue~* bfr dL; fo’ks”k.ke~\ 

¿vÀ cyL;  ¿cÀ nsgL;  ¿lÀ ‘kjhjL;  ¿nÀ eul% 

[k- ^rs vf/kdkf/kda /kue~ bPNfUr* v= ^rs* bfr loZukeina dsH;% iz;qDre~\ 

¿vÀ fu/kZusH;%  ¿cÀ l/kusH;%  ¿lÀ /kfudsH;%  ¿nÀ cfyH;% 

x- ^lUrks”k% izkI;rs R;kxr% ijksidkjr% p* v= fdz;kina fde~ iz;qDre~\ 

¿vÀ lUrks”k%  ¿cÀ izkI;rs  ¿lÀ R;kxr%  ¿nÀ ijksidkjr% 

 



[k.M% ^[k* 

jpukRed&dk;Ze~ ¿15 vadk%À 

iz'u 2- v/kksfyf[kra i=a eatw”kkr% ‘kCna fpRok iwj;r fy[kr pA       ¿ ½x10=5À 

111] ¼1½ &&&&&&&&&&&  

jk¡phr% 

frfFk% 13@06@2023 

iwT;s Hkfxfu! 

lLusge~ ¼2½ &&&&&&&&&&& 

v= dq’kye~ r=kLrqA eU;s Hkorh loZFkk ¼3½ &&&&&&&&& p Hkfo”;frA Hkorh ¼4½ &&&&&&&& ,o ;r~  

Jko.keklL; iwf.kZek;ka j{kkcU/kuioZf.k vLekda fo|ky;s ¼5½ &&&&&&&&& laLd`rfnolL; vk;kstua HkofrA  

vfLeu~ o”ksZ ¼6½ &&&&&&&&& ukVdL; eapua Hkfo”;frA vga r= ¼7½ &&&&&&&&& vfHku;a dfj”;kfeA  

HkoR;k% vkxeusu ^j{kkcU/ku* bfr ioZ.k% vfi ¼8½ &&&&&&&&&&& Hkfo”;fr] fo|ky;s HkoR;k% mifLFkR;k ee  

¼9½ &&&&&&&&&&& vfi Hkfo”;frA 

HkoR;k% ¼10½ &&&&&&&&&&&]  

Lkkses’k%A 

eatw”kk 

 

 

iz’u 3- v/kksnRra fp=a ǹ”V~ok eatw”kkr% ‘kCna fpRok iap okD;kfu jp;rA     ¿ 1x5=5À 

eatw”kk 

 

 

 

 

 

 
 

eatw”kk 

 

 
 

fo|ky;%]  dzhMfUr]  ckydk%]  izkax.ke~] ckfydk%]  losZ]  dwnZfr] ikndUnqde~]  es?kk%]  fo’kky%]  
/otk]  o`{kk%]  okrk;ukfu]  }kjkf.kA 

vk;kstue~]  pk#nRrfefr]  pk#nRrL;]  Lusgik=e~]  v’kksduxje~] mRlkgo/kZue~]  vfHkoknue~]  
izfro”kZe~]  tkukfr]  izlUufpRrkA 
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vFkok 

eatw”kk;k% lgk;r;k ^^ckyJe% ckyds”kq vR;kpkj%** bfr fo”k;e~ vf/kd`R; laLd`rHkk”kk;ka iap okD;kfu fy[krA  

eatw”kk 

 

 

iz’u 4- v/kksfyf[kr okD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr A ¼dspu iap½    ¿  1x5=5À 

d- pkj osn bZ’oj dh ok.kh gSaA 

[k- izsepUn dye ds flikgh FksA 

x- fdlku us liZ dk iwtu fd;kA 

?k- esjk HkkbZ n’keh d{kk esa i<+rk gSA 

³- vuq’kklu gh thou dk vk/kkj gSA 

p- ekuo ges’kk deZ esa gh fo’okl djsA 

 
 

[k.M% ^x* 
vuqiz;qDr&O;kdj.ke~ ¿25 vadk%À 

 

iz’u 5- v/kksfyf[krkuka inkuka lfU/ka lfU/kfoPNsna ok d̀Rok fy[krA      ¿  1x4=4À 

d- pdze~ lnk odze~ ruq’p izs”k;n~ HkzefrA   

[k- ik”kk.kh lH;rk fulxsZ L;kr~ $ u lekfo”VkA 

x- bZ’oj% losZH;% lr~ $ efre~ n|kr~A 

¿vÀ lUefre~  ¿cÀ lEefre~  ¿lÀ ln~efre~  ¿nÀ lUufre~ 

?k- vL;ka d{kk;ka “k..kofr% Nk=k% iBfUrA 

¿vÀ “kV~ $ .kofr% ¿cÀ “k.k~ $ .kofr% ¿lÀ “kM~ $ .kofr% ¿nÀ “kV~ $ uofr% 
 

iz’u 6- v/kksfyf[krokD;s”kq js[kkafdrinkuka lekla foxzga ok dq#rA      ¿  1x4=4À 
d- izfrtua Hkkstua izkIrO;e~A 
¿vÀ tua izfr tua izfr ¿cÀ tue~ tue~ bfr ¿lÀ tua izfr bfr ¿nÀ izfr tua bfr 
[k- f’k’ko% lfp=a iqLrda nz”Vqe~ bPNfUrA 
¿vÀ rsu fp=s.k lfgre~ ¿cÀ fp=L; lfgre~ ¿lÀ fp=e~ fp=e~ bfr ¿nÀ fp=s.k lfgre~ 
x- f’kf’kjolUrkS iqujk;r%A 
¿vÀ f’kf’kj% p olUrkS p ¿cÀ f’kf’kjk’p olUrk’p ¿lÀ f’kf’kjkS p olUrkS p¿nÀ f’kf’kj% p olUr% p 
?k- losZ mixaxe~ ,o xPNfUrA 
¿vÀ xaxk;k lehie~ bfr ¿cÀ xaxk lehie~ bfr ¿lÀ mik;k% lehie~ bfr ¿nÀ xaxk;k% lehie~ bfr 

 
iz’u 7- v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; foHkT; ok fy[krA    ¿  1x4=4À 

d- losZ”kq iq=s”kq tuuh rqY; oRlykA 
¿vÀ oRly $ Bd~ ¿cÀ oRly $ Vki~ ¿lÀ oRly $ Dr ¿nÀ oRly $ ry~ 
[k- vxk/kty lapkjh jksfgr% xoZa u ;kfrA 

tyikux`gs”kq] Hkkstuky;s”kq]  m|ksxs”kq]  ckydk%]  vYiosrue~]  lqfo/kkuke~ vHkko%]  f’k{kkr%]  oafprk%]  
lwphdk;Ze~]  dzhMukr~]  ckY;lq[kkr~] fofo/kk%]  tuk%]  xzkesH;%] vku;fUr]  dzhf.kRok] vfiA 
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¿vÀ lapkj $ ³hi~ ¿cÀ lapkj $ Ro ~ ¿lÀ lapkj $ erqi~ ¿nÀ lapkj $ Bd~ 
x- vodzrk ;Fkk fpRrs rFkSo ;fn okfp Hkosr~A 
¿vÀ odz$ry~  ¿cÀ v$odz$Vki~ ¿lÀ v$odz$Ro  ¿nÀ v$odz$ry~ 
?k- losZ”kke~ egRRoe~ fo|rs ;Fkkle;e~A 
¿vÀ eg $ Ro  ¿cÀ eg $ Roe~  ¿lÀ egr~ $ Roe~ ¿nÀ egr~ $ Ro 

 
iz’u 8- v/kksfyf[kra le;a n`”V~ok laLdr̀ ine~ fy[krA       ¿  1x4=4À 

d- nsonRr% ¼4%15½ &&&&&&&&&& oknus mfRr”BfrA 
[k- ¼5%00½ &&&&&&&&&& oknus Lukukfnda djksfrA 
x- ¼5%30½ &&&&&&&&&& oknus iwtukfnde~ djksfrA 
?k- ¼7%45½ &&&&&&&&&& oknus iBuk; fo|ky;a xPNfrA 

 
iz’u 9- v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krA  ¼dspu =;%½    ¿  1x3=3À 

d- ee lg ee fe=kf.k vfi xfe”;fUrA 
[k- tuk% vkxkeh lIrkgs Hkze.kkFkZa vxPNu~A 
x- vga tukuke~ izsf”kre~ i=kf.k forjkfeA 
?k- tuk% ,dL; Nk;k;qDrL; ò{kL; v/k% Hkkstue~ vdqeZA 

 
iz’u 10- v/kksfyf[kra laokna mfpr fodYisH;% iwjf;Rok fy[krA       ¿  1x3=3À 

jek  & lq/ks! Roe~ dL;ke~ d{kk;ke~ ¼1½ &&&&&&&&&&\ 
lq/kk & ¼2½ &&&&&&&&&& rq n’ked{kk;ke~ iB~;rsA 
jek  & Roe~ dfr oknus fo|ky;a xPNfl\ 
lq/kk & e;k uooknus fo|ky;% ¼3½ &&&&&&&&&&A 

 

eatw”kk 
 

 

 
 
iz'u 11- v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu fpRok fjDrLFkkukfu iwj;rA          ¿½x6=3À 

rs tuk% ,o /kU;k% ;s ¼1½ &&&&&&& fu#Rlkfgrk% u HkofUrA rs vfi /kU;k% ;s dnkfi ¼2½ &&&&&&& u 
onfUrA rs ¼3½ &&&&&&&&&&&&  xPNfUr ¼4½ &&&&&&&&&&&& ,o lkQY;e~ izkIuqofUr vFk p ¼5½ 
&&&&&&&&&&&& thofUr rkor~ lq[kiwoZda ¼6½ &&&&&&&&&&&&  thofUrA 

 

eatw”kk 
 

 

 
[k.M% ^?k* 

ifBr&vocks/kue~ ¿30 vadk%À 
 
iz’u 12- v/kksfyf[kra x|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA       

vfLr nsmyk[;ks xzke%A r= jkt flag% uke jktiq=% olfr LeA ,dnk dsukfi vko';ddk;sZ.k rL; Hkk;kZ cqf)erh 
iq=};ksisrk firqxZ̀ga izfr pfyrkA ekxsZ xgudkuus lk ,da O;k?kza nn'kZA lk O;k?kzekxPNUra ǹ"V~ok /k"V~;kZr~ iq=kS 
pisV;k izâR; txkn& dFkesdSd'kks O;k?kzHk{k.kk; dyga dq#Fk%\ v;esdLrkof}HkT; HkqT;rke~A i'pkn~ vU;ks 
f}rh;% df'pYy{;rsA 
 

r=]  ;kor~]  ,o]  dnkfi]  òFkk]  ;=A 

e;k]  xE;rs]  iBfl 
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1 ,dinsu mRrjrA           ¿ ½x2=1À 
d- jktflag% dq= olfr Le\ 
[k- cqf)erh dq= ,da O;k?kza nn’kZ\ 
 

2 iw.kZokD;su mRrjrA          ¿ 1x2=2À 
d- cqf)erh iq=kS pisV;k izgR; fde~ txkn\ 
[k- dkS ,dSd’k% O;k?kzHk{k.kk; dyga dq#r%\ 
 

3 funsZ’kkuqlkje~ mRrjrA          ¿  ½x4=2À 
d- ^txkn* bfr fØ;kinL; drZ`ina fde~\ 
[k- ^v;e~* bfr ina dLeS iz;qDre~\ 
x- ^xUNUre~* bfr inL; foi;Z;ina x|ka’ks fda ç;qäe~\ 
¿vÀ O;k?kze~  ¿cÀ vkxPNUre~  ¿lÀ dkuue~  ¿nÀ txkn 
?k- ^iRuh* bfr inL; i;kZ;ina x|ka’ks fda ç;qäe~\ 
¿vÀ nkjk   ¿cÀ v/kkZafxuh  ¿lÀ Hkk;kZ  ¿nÀ izHkk  

 

iz’u 13- v/kksfyf[kra ukV~;k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA  
O;k?k% & O;k?kzekjh dkfpfn;fefr eRok O;k?kzks Hk;kdqyfpÙkks u"V%A 
cqf)erh & futcq)~;k foeqäk lk Hk;kn~ O;k?kzL; HkkfeuhA vU;ks·fi cqf)e‚Yyksds eqP;rs egrks Hk;kr~A 
'kx̀ky%  & Hk;kdqya O;k?kza –"V~ok èkwrZ% 'kx̀ky% glUukg& Hkoku~ dqr% Hk;kr~ iykf;r%\ 
O;k?kz%  & 'kx̀kya vonr~& xPN] xPN tEcqd! Roefi fdf¥~pn~ xw<çns'ke~A ;rks O;k?kzekjhfr ;k 'kkL=s  

   Jw;rs r;kga gUrqekjCèk% ija x̀ghrdjthforks u"V% 'kh?kza rnxzr%A 
'kx̀ky%  & O;k?kz! Ro;k egRdkSrqde~ vkosfnra ;Uekuq"kknfi foHksf"k\ 
O;k?kz%  & çR;{keso e;k lkReiq=kosdSd'kks ekeÙkqa dygk;ekukS pisV;k çgjUrh –"VkA 
 

1 ,dinsu mRrjrA           ¿ ½x2=1À 
d- dh–'k% O;k?kz% u"V%\ 
[k- da –"V~ok 'kx̀ky% glu~ vonr~\ 
 

2 iw.kZokD;su mRrjrA          ¿ 1x2=2À 
d- O;k?kz% tEcqda çfr fda dFk;fr\ 
[k- cqf)erh dL; Hk;kn~ foeqäk\ 
 

3 funsZ’kkuqlkje~ mRrjrA          ¿ ½x4=2À 
d- ^tEcqd%* bfr inL; i;kZ;ina ukV~;ka'ks fdefLr\ 
[k- ^vkg* bfr fØ;kinL; drZ̀ina fde~\ 
x- ^'kx̀ky%* bfr inL; fo'ks"k.kina ukV~;ka'ks fda ç;qäe~\ 
¿vÀ dweZ%  ¿cÀ Hk;kdqye~  ¿lÀ ǹ”V~ok  ¿nÀ /kwrZ% 
?k- ^#nu~* bfr inL; foi;Z;ina ukV~;ka'ks fde~\ 
¿vÀ dqoZu~  ¿cÀ dzhMu~  ¿lÀ /kkou~  ¿nÀ glu~ 
 

iz’u 14- v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA       
nqoZge= thfora tkra izÑfrjso 'kj.ke~A 'kqfp&i;kZoj.ke~AA 
egkuxjeè;s pynfu'ka dkyk;lpØe~A 
eu% 'kks"k;r~ ruw% is"k;n~ Hkzefr lnk oØe~AA 
nqnkZUrSnZ'kuSjequk L;kUuSo tuxzlue~AA 'kqfp--- 
 

1 ,dinsu mRrjrA          ¿  ½x2=1À 
d- pdze~ dFke~ pyfr\ 
[k- vLekde~ ‘kj.ke~ fde~\ 
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2 iw.kZokD;su mRrjrA          ¿ 1x2=2À 
d- odze~ pdze~ dnk pyfr\ 
[k- dsu tuxzlue~ u L;kr~\ 
 

3 funsZ’kkuqlkje~ mRrjrA          ¿ ½x4=2À 
d- ^Hkzefr* bfr fdz;kinL; dr̀Zina fde~\ 
[k- ^i;kZoj.ke~* bfr inL; fo’ks”k.k ina fde~\ 
x- ^vgfuZ’ke~* bfr inL; i;kZ;ina dkO;ka’ks fda iz;qDre~\   
¿vÀ ‘kqfp%  ¿cÀ izd`fr%  ¿lÀ vfu’ke~  ¿nÀ fnole~ 
?k- ^ljyS%* bfr inL; foi;Zina fde~\ 
¿vÀ n’kuS%  ¿cÀ vequk  ¿lÀ nqnkZUrS%  ¿nÀ L;kUuS% 

 

iz’u 15- js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka dR̀ok fy[krA      ¿ 1x4=4À 
d- ‘kdVh;kue~ dTtyefyue~ /kwea eqapfrA 
[k- m|kus if{k.kke~ dyjoe~ psr% izlkn;frA 
x- r= jktflagks uke jktiq=% olfr LeA  
?k- cqf)erh pisV;k iq=kS izârorhA 
 

iz’u 16- v/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr A      ¿  1x4=4À 
dTtyefyua /kwea eqapfr 'kr'kdVh;kue~A 
ok"i;kuekyk la/kkofr forjUrh èokue~AA 
;kukuka iaDr;ks áuUrk% dfBua lalj.ke~A 'kqfp---  
 

vuO;%& v|Ros ns’ks ‘kr’kdVh;kue~ ¼1½ &&&&&&&&&&&& /kwea eqapfr] ok”i;kuekyk ¼2½ &&&&&&&&&&&&  
forjUrh la/kkofrA ;kukuke~ ¼3½ &&&&&&&&&&&&  iaDr;% fg lfUr ¼;su½ ¼4½ &&&&&&&&&&&&  
lalj.ke~A 

 

eatw”kk 
 

vFkok 
 

vFkok 
v/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr A     

   

ok;qe.Mya Hk'̀ka nwf"kra u fg fueZya tye~A 
dqfRlroLrqfefJra Hk{;a leya /kjkrye~AA 
dj.kh;a cfgjUrtZxfr rq cgq 'kq)hdj.ke~A 'kqfp--- 
 

HkkokFkZ%&ok;qe.Mye~ ¼1½ &&&&&&&&& nwf”kre~ tkre~ vfLrA fueZye~ tye~ vfi ¼2½&&&&&&&& ukfLrA 
lokZf.k [kkn~;oLrwfu vfi dqfRlrfefJrkfu lfUrA lEiw.kZe~ /kjkrye~ ¼3½ &&&&&&&&&&&& tkre~ vfLrA 
,rkfu lokZf.k eykfu cfg% d`Rok vUrtkZye~ eu% cqf)e~ ok ¼4½ &&&&&&&&&&& dj.kh;e~A i;kZoj.ke~ ,o 
vLekde~ ‘kj.ke~A 

 

eatw”kk 
 

 

 
 

‘kq)hdj.ke~]  ikuh;e~]  leye~]  Hk’̀ke~A 

dfBue~]  dTtyefyue~]  /okue~]  vuUrk%A  
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iz’u 17- v/kksfyf[krkfu okD;kfu ?kVukdzekuqlkje~ fy[krA      ¿  ½x8=4À 

d- O;k?kz% O;k?kzekjh b;fefr eRok iykf;r%A  
[k- izR;qRiUefr% lk Ükx̀kye~ vkf{kiUrh mokpA 
x- tEcqdÑrksRlkg% O;k?kz% iqu% dkuue~ vkxPNr~A  
?k- ekxsZ lk ,da O;k?kze~ vi';r~A  
³- O;k?kza ǹ"V~ok lk iq=kS rkM;Urh mokp&v/kquk ,deso O;k?kz% foHkT; HkqT;rkeA  
p- cqf)erh iq=};su misrk firqxZ̀ga izfr pfyrkA 
N- ^Roa O;k?kz=;e~ vkusrqa* izfrKk; ,deso vkuhroku~A  
t- xyc)&Ük`xkyd% O;k?kz% iqu% iykf;r%A  

 

iz’u 18- v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfprkFkZa fpRok fy[krA ¼dspu =;%½  ¿  1x3=3À 
d- ik”kk.kh lH;rk fulxsZ lekfo”Vk u L;kr~A 
¿vÀ izdf̀r%  ¿cÀ /kjkrye~  ¿lÀ izdR̀;ke~  ¿nÀ uhjlrke~ 
[k- ruq% izs”k;n~ lnk odze~ HkzefrA 
¿vÀ tye~  ¿cÀ cye~  ¿lÀ Kkue~  ¿nÀ ‘kjhje~ 
x- flage~ n”̀V~ok losZ i’ko% rw.kZe~ v/kkou~A 
¿vÀ ‘kh?kze~  ¿cÀ Jx̀kye~  ¿lÀ O;k?kze~  ¿nÀ izR;{ke~ 
?k- i;% iwja unh&fu>Zja izi’;kfeA 
¿vÀ nksX/ke~  ¿cÀ jle~  ¿lÀ tye~  ¿nÀ Hkktue~ 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2023-24) 
 

 
 

Class - X                                                                               Subject – Science  
Time – 3 Hours                                                                 Maximum Marks- 80   

 

General Instructions: 

i. This question paper consists of 39 questions in 5 sections. 

ii. All questions are compulsory. However, an internal choice is provided in some questions. A 

student is expected to attempt only one of these questions. 

iii. Section A consists of 20 objective type questions carrying 1 mark each. 

iv. Section B consists of 6 Very Short Answer questions carrying 02 marks each. Answers to these 

questions should be in the range of 30 to 50 words. 

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these 

questions should be in the range of 50 to 80 words. 

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these 

questions should be in the range of 80 to 120 words. 

vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-

parts. Internal choice is provided in one of these sub parts. 

 

 

SECTION A    [1x20=20] 

1. The Silver articles becomes black on prolonged exposure to air due to the formation of   [1] 

(a) Ag2S  (b) Ag3N  (c) Ag2O  (d) AgCl  

2. Which of the following statements about the following reaction are true?    [1] 

3Fe  +  4H2O  → Fe3O4 + 4H2 

i. Iron metal is oxidized .                            ii. Water is  reduced 

iii. Water acts as a reducing agent  iv. Water is acting as a oxidizing agent. 

(a) i & iii  (b) iii & iv  (c) i,ii & iv  (d) iii & iv 

3. Heating of anhydrous Ferrous Sulphate  in a test tube gives the following gases:   [1]  
(a) water vapour   (b) SO2,SO3,water vapour   (c) SO2,SO3 (d) water vapour,SO3 

4. Acids turn methyl orange _________  while  bases  turn it _________ in colour.    [1] 
(a) blue, red  (b) red , yellow (c) red, pink   (d) red, blue 

5. A base can be prepared by the reaction of         [1] 
(a) active non metal and water   (b) active metal and water 

(c) a sulphide and water    (d) a gas and water. 
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6. ------- reacts with hydrochloric acid to give colourless, odourless  gas hydrogen   [1] 

(a) KOH         (b) MgCO3             (c) CuO               (d) Zn 

7. Fruit like oranges contain organic acid like  
(a) Lactic acid  (b) Sulphuric Acid (c) Acetic Acid   (d) Citric Acid 

8. In the given transverse section of the leaf identify the layer of cells where maximum    
photosynthesis occurs.                                                                                                            [1] 

 

 

 

 

 

 

     (a) I, II        (b) II, III          (c) III, IV                 (d) I, IV 
 

9. Role of haemoglobin is not to-          [1] 
(a) Attach oxygen entering the cells. 
(b) Serve as respiratory pigment. 
(c) Transport some amount of CO2 
(d) Maintains immunity and act as  immune barrier 

    
10. The entire surface of single celled living organism is in contact with the environment , so they do 

not need specific organs to 

(i) To take in food 
(ii) Exchange gases 
(iii) Remove waste materials 
(iv) Synthesise their food 

(a) i and iii    (b) i, ii and iv  (c) i, iii and iv  (d)  i, ii and iii  [1] 

11. Match the labeling referred in column I and correlate with the function in column II. 
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Column I  Column II 

i a. The length of this depends on the food the organism eats 

ii b. Initial phase of starch digestion 

iii 

 

c. Increase the efficiency of lipase enzyme action 

iv d. This is the site for complete digestion of carbohydrates,proteins and 
fats 

 

      A. i.- a) ; ii – b) ; iii – c) ; iv- d) 

      B. i.- b) ; ii – c) ; iii – d) ; iv- a)  

      C. i.- b) ; ii – d) ; iii – c) ; iv- a) 

      D. i.- d) ; ii – a) ; iii – b) ; iv- c)           [1] 

12. In which of the following groups of organisms, food material is broken down outside the body 
and then absorbed in? 

(a) mushroom, green plants, amoeba  
(b) yeast, mushroom, bread mould  
(c) paramecium, amoeba, cuscuta  
(d) Cuscuta, lice, tapeworm                                                                                                     [1] 

 

 

13. The given Figure shows a ray of light as it travels from medium A to medium B. Refractive index 

of the medium B relative to medium A is-            [1] 

 

 

                                                  

 

(a) √3 / √2.           (b) 2 / 3.       (c) 1/ 2  (d) 2 

14. An object is placed 20 cm from the concave mirror of focal length 10 cm, then image is  

formed at-                                                                                                             [1] 

(a) behind the mirror 

(b) between the mirror and focus 

(c) at focus 

(d) centre of curvature of mirror 
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15. The characteristic processes observed in anaerobic respiration are     [1] 

i) presence of oxygen  

ii) release of carbon dioxide 

iii)  release of energy 

iv)  release of lactic acid  

(a) (i) & (ii)  

(b) (i),(ii) & (iii)   

(c) (ii), (iii) & (iv)  

(d) (iv) only                              

 

 

 

16. 

 

 

 

       

 

 

           

      

  

 

 

 

Look at the diagram given above carefully 

Identify the process taking place at Z.  

(a) Reproduction  

(b) Transpiration 

(c) Photosynthesis  

(d) Translocation                                                                                                             [1] 

 

For question numbers 17 to 20, two statements are given one labeled  

Assertion (A) and the other labeled Reason (R). Select the correct answer to these questions from the 

codes (a), (b), (c) and (d) as given below. 

(a) Both A and R are true, and R is the correct explanation of the assertion. 

(b) Both A and R are true, but R is not correct explanation of the assertion. 

(c) A is true, but R is false. 

(d) A is false, but R is true. 

 

 

 

x y 

z 

O2 CO2 

H2O 

PLANTS 
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17. Assertion: Decomposition reactions are endothermic. 

Reason: Decomposition involves breaking of bonds.       [1] 

 

18. Assertion:  Capillaries have walls that are just one cell thick.  

Reason: Exchange of material between the blood and surrounding cells takes place       
           across the capillaries.          [1] 

 

19.  Assertion: The emergent ray is parallel to the direction of the incident ray in glass slab. 

Reason: The extent of bending of the ray of light at the opposite parallel faces (air- glass interface 

and glass-air interface) of the rectangular glass slab is equal and opposite.    [1] 

 

20. Assertion: Amphibians can tolerate mixing of oxygenated and deoxygenated blood.  

       Reason: Amphibians are animals with two chambered heart                           [1] 

 

SECTION B [2x6=12] 

21. (a) Complete and balance the following:-         [2] 

       CO +  H2                          
340 atm   

  (b) Define rancidity. 

OR 

 (a) Give a balanced chemical equation for photolysis of silver bromide. 
 (b) Can we store copper sulphate solution in iron pot? Justify your answer. 

 

22. The leaves of a plant were covered with aluminium foil, how would it affect the physiology of the 

plant?                                                                                                            [1+1=2] 

23. (a) How do plants take up nitrogen?           [1+1=2] 
      (b) Two testube A and B were taken ,In testube A boiled rice was put and in testube B boiled       

and chewed rice was put. Then starch test was performed .What changes were observed and 
why? 

                                              

                                                            OR 

 (a) Does the events of photosynthesis occur one after the other? Give reason in support of your 
answer.                          

(b) Why do plants have a slow transport system?          [1+1=2] 
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24. One half of a convex lens of focal length 20 cm is covered with a black paper. Can such a lens 

produce an image of a complete object placed at a distance of 30 cm from the lens? Draw a ray 

diagram to justify your answer.                  [1+1=2]                                  

     

  

25.  

 

 

 The above figure shows incomplete ray diagram of an object, where the image A' B' is formed 

after refraction. All the rays parallel to principal axis passes through principal focus of the lens. O 

is the optical centre of lens                                                                                                                     

(a) Based on the text and the data given in the above paragraph, what is the position of the object  

AB in front of lens and what will be the size of image A' B' with respect to the size of the object 

AB?                                                                                                                                                            

(b) Also complete the ray diagram in the above case.                                                    [1+1= 2]                                                               

OR  

A student wants to get the image of a candle flame on the walls of school laboratory by using a 

lens:-                                                                                                                                                                

(a) Which type of lens should he use and why?                                                                                       

(b) At what distance in terms of focal length F of the lens should he place the flame, so as to get a  

(i)  magnified. And  (ii) diminished , image respectively on the wall?      

26. (a) Differentiate between pepsin and trypsin.  Give one point of difference.     

      (b) What is the role of Villi present in the ileum?             [1+1=2]  

      SECTION C [3x7=21] 

27. A grey metallic ribbon ’X’,  when burned in air burns with a dazzling white flame and a white 

powder ‘Y’.Y when dissolved in water forms an alkali ‘Z’ 

(a) Identify Y& Z.  
      (b) Give the involved chemical reactions of X,Y and Z.       [3] 

28. (a) Why does a dry litmus paper not show any colour change with acids? 

(b) What do you observe when crushed egg shells are added to hydrochloric acid? 
(c) Give the chemical reaction involved above.        [3] 

29. (a) What type of arrangement exist in the bodies of large animals to meet their oxygen    

 requirement adequately? 

 (b) How is the food pushed forward in the alimentary canal?                                                     [2+1=3] 
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30. (a) Differentiate between photosynthesis and respiration. Give two points of difference.      [2+1=3] 
      (b) What will happen if bile is not secreted.                                                                                                                  

31. The image of a object formed by a lens is obtained on a screen placed on the other side of the lens. 

If the image is 3/2 times the size of the object and the distance between the lens and the image is 

60 cm, at what distance should the object be placed from the lens? What is the nature of the image 

at a distance of 80 cm and what is the focal length of lens?      [3] 

32. (a) If the focal length of a lens is 20 cm then find its power.   

(b) An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre ‘O’ of a   

 concave lens of focal length 20 cm. Draw a ray diagram to show the formation of image and 
hence , find the position and size of the image formed. Mark optical centre ‘O’ and principal 
focus ‘F’ on the diagram.                    [1+2=3]     
                 

33. (a) For what position of the object does concave mirror form a real, inverted and diminished 

image of the object? Draw the ray diagram. 

(b) An object 4 cm high is placed at a distance of 6 cm in front of a concave mirror of focal length 

12 cm. Find the position of the image formed.            [1+2=3]      

 

SECTION D  [5x3=15]                                        

34. (a) NaOH + Zn  

(b) What will you observe when a black powder CuO reacts with HCl? 
(c) Name the type of chemical reaction shown above. 

(d) What colour change will an alkali show with phenolphthalein solution? 

(e) During dissolution of acid , why is it recommended to add acid to water and not water to acid? 

OR 

(a) Why does aqueous solution of an acid  conduct electricity?             [1x3+2] 
(b) Arrange distilled water,lemon juice, milk of magnesia, hydrochloric acid and sodium 

hydroxide in increasing order of pH. 
(c) How will you test the presence of carbon dioxide gas? 

(d) What is the difference between a strong and weak base? Give one example of each. 

                                                  

35.  (a) Draw the section of human heart . Name and label the following on the diagram  [3+1+1=5] 

 (i) part that prevents the mixing of oxygenated and deoxygenated blood. 
(ii) blood vessel which carries deoxygenated blood  
(iii) chamber that receives deoxygenated blood from various part of the body. 

     (iv) chamber from where oxygenated blood is pumped out to various parts of the body 
(b) Why do ventricles have a thicker muscular walls than atria? 
(c) Why valves occur in heart and veins? 

                                      OR 

(a) Draw a well labeled schematic diagram to show double circulation in humans.   [3+1+1=5] 

(b) Why do arteries form capillaries? 

(c) What will happen if the circulatory system develops a leak ? How can this leak be prevented? 
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36.  (a) State the two laws of refraction of light.  

 (b) Write the sign convention for lens.           

 (c) The absolute refractive index of glycerine is 1.46. What is the speed of light in glycerine , if its 

speed in air is 3 x 108 m/s?          [2+2+1=5] 

                                               OR 

(a) State the two laws of reflection of light?  

(b) Write the sign convention for spherical mirror.    

  (c) An object is placed 15 cm from a convex mirror of radius of curvature 60 cm. Find the position 

of image and its magnification.                                 

SECTION E  [4x3=12] 

37. Geeta noticed one day that the iron window panes of her room had a layer of brown powder on it. 

This is called rust. She immediately called the painter to her house and took the necessary steps to 

preserve the strength and sheen of the metal. 

(a) What is corrosion of metals? 

(b) Can rusting of nail iron take place if it is immersed in distilled water? Justify your answer. 

(c) Suggest two ways by which rusting of iron articles can be prevented. 

(d) State one demerit and one merit of corrosion of metal.      [4] 

OR 

(d) Give the chemical equation for rusting of iron and name the type of reaction.  
 

Case - based/data -based questions with 2 to 3 short sub - parts. Internal choice is  provided in 

one of these sub-parts. 

38. Human beings perform pulmonary respiration .Human respiratory system consist of respiratory 
tract, a pair of lungs and accessory organs that brings about breathing. In physiology   respiration 
is the movement of oxygen from the outside environment to the cells within tissues and the 
removal the carbon dioxide in the opposite direction that is to the environment.     
(a) Why is trachea lined by rings of cartilage?       [1] 
(b) Breathing rate is faster in fishes Justify.        [1] 
(c) How is oxygen and carbon dioxide transported in humans?     [2] 

    OR 

      (c)”Breathing cycle is rhythmic whereas exchange of gases is a continuous process.”Justify 
 

39. The phenomenon in which light ray bends or changes its direction when traveling from one 
medium to other is called as refraction of light. And also we can observed that if the ray of light 
is traveling from rarer medium to denser medium it bends towards the normal whereas when 
the ray of light travels from denser medium to rarer medium it bends away from the normal. 
And the extent of bending of light in a particular medium depends on the refractive index of the 
medium mostly. More the refractive index more is the bending or denser is the medium and less 
will be the velocity of light in that medium. 

If less is the refractive index then less will be the bending or medium is rarer and velocity of light 

will be more in that medium.  
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(a) Mention any two factors on which refractive index of medium depend.  

(b) Define absolute refractive index.  

(c) If the absolute refractive index of water is 4/3 and that of glass is 3/2. What will be the 
refractive index of glass with respect to water?      [1+1+2=4] 
   

OR  

If a ray of light traveling in air is incident on a glass slab making an angle 37° with the 

refracting surface of the slab, find the refractive index the glass slab. The angle of refraction is 

given be 300  [Given data sin 300 = 0.5 sin 600 = 0.87, sin 370 = 0.6, sin 450 = 0.7]. 
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ii. Section A – From question 1 to 20 are MCQs of 1 mark each. 
iii. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks 

each. Answer to each question should not exceed 40 words. 
iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each. 

Answer to each question should not exceed 60 words 
v. Section D – Question no. 30 to 33 are long answer type questions, carrying 5 marks each. 

Answer to each question should not exceed 120 words. 
vi. Section-E - Questions no from 34 to 36 are case based questions with three sub questions 

and are of 4 marks each 
vii. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 37a from 

History (2 marks) and 37b from Geography (3 marks). 
viii. There is no overall choice in the question paper. However, an internal choice has been 

provided in few questions. Only one of the choices in such questions have to be attempted. 
ix. In addition to this, separate instructions are given with each section and question, wherever 

necessary. 

 

SECTION A (1 mark questions)  

1. Who among the following formed the secret society called ‘Young Italy’?      [1] 

A. Otto von Bismarck  

B. Giuseppe Mazzini  

C. Metternich  

D. Johann Gottfried Herder  

2. The Union List includes subjects such as:         [1] 

A. Education, forests, trade unions, marriages, adoption and succession. 

B. Police, trade, commerce, agriculture and irrigation. 

C. Residuary subjects like computer software. 

D. Defence, foreign affairs, banking, currency, communications. 

3. Which among the following are examples of ‘Coming together federations’?    [1] 

A.  India, Spain and Belgium 

B.  India, USA and Spain 

C.  USA, Switzerland and Australia 

D.  Belgium and Sri Lanka 
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4. In case of a clash between the laws made by the centre and a state on a subject in the 

concurrent list :                 [1] 

A. the state law prevails.  

B. the central law prevails. 

C. both the laws prevail within their respective jurisdiction. 

D. the Supreme Court has to intervene to decide. 

5. Complete the following table :                    [1] 

Soil Soil texture Areas  

Forest Soil …. ? …. Valley Sides 

Options : 
A. Sandy and Clayey 
B. Loamy and Silty 
C. Sandy and Silty  

D. Sandy and loamy  

6.  Which one of the following is NOT correct regarding Joint Forest Management 
 Programme?                                [1] 

A. Odisha passed the first resolution for Joint Forest Management. 
B.  This programme has been in formal existence since 1978. 
C.  It depends on the formation of local institutions. 
D.  Members of local communities are entitled to intermediary benefits like non-timber forest 
produces. 

 

7. Match the following and choose the correct option given below :              [1] 

Column I Column II 

a.  Reserved Forests i. Other forests and wastelands belonging to both        

Government and private individuals and private individuals 

and communities. 

b. Protected Forests ii. Forests are regarded as most valuable as far as the 

conservation of forests and wildlife resources.  

c. Unclassed Forests iii. Forest Lands are protected from any further depletion. 

Options : 

A.  a-i,   b-iii,  c-ii 

B.   a-ii,  b-i,    c-iii 

C.  a-iii,  b-ii,   c-i 

D.  a-ii,   b-iii,  c-i 
 

8. Most of the Sinhala-speaking people of Sri Lanka are ______.      [1] 

A. Christians 

B. Hindus 

C. Buddhists 

D. Muslims 
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9. The Treaty of Constantinople was signed in _______.       [1] 

A. 1835 

B. 1735 

C. 1834 

D. 1832 

10. Elle, the measuring unit in Germany was used to measure:           [1] 

A. cloth  

B. thread  

C. land  

D. height 

11. An Act of recognising Sinhala as the official language was signed in:      [1] 

A. 1956  

B. 1948 

C. 1942 

D. 1954 

12. Which one of the following statements about power-sharing arrangements is correct?  [1] 

A. Power sharing is necessary only in societies which have religious, linguistic or ethnic  

    divisions. 

B.  Power sharing is suitable only for big countries that have regional divisions. 

C.  Every society needs some form of power sharing even if it is small or does not have social  

     divisions. 
D.  Power-sharing is not necessary at all. 
 

13. Zollverein started in 1834 in Prussia refers to a:              [1] 

A. Trade Union  

B. Customs Union  

C. Labour Union  

D. Farmer’s Union 

14. If the Body Mass Index (BMI) is _________ then the adult person would be considered 

undernourished.               [1] 

A. less than 18.5 

B. less than 10.5 

C. less than 25.5 

D. less than 28.5 

 

15. The tertiary sector is also known as _______.        [1] 

A. Primary Sector 

B. Secondary Sector 

C. Service Sector 

D. None of these 

 

16.  State whether True or False. 

'For development, people look at a single goal.'        [1] 
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17. India comes in the category of ________ countries because its per capita income is just US$ 

1820 per annum.            [1] 

A. low middle income 
B. middle income 
C. high middle income 
D. none of the above             

18. For comparing the development of countries, their _______ is considered to be one of the most 

important attributes.            [1] 

A. average income 
B.  population 
C. occupation 
D. none of the above             

19. Literacy rate measures the proportion of literate population in which age group?   [1] 

20. ATM is an example of which sector?          [1] 
 

SECTION B (2 mark questions) 

21. Bring out any two sharp contrasts between Belgium and Sri Lankan democracies.   [2] 

22. Describe any two reforms introduced by Napoleon in the territories he conquered.   [2] 

23. State the main effects of Chipko movement in India.              [2] 
OR 

Why is biodiversity important for human lives? 

24. Define the following terms:           [2] 

(a) Infant Mortality Rate 
(b) Net Attendance Ratio 

 

SECTION C (3 mark questions) 

25. Explain any three causes of conflict in the ‘Balkan area’ after 1871.     [3] 

26. “Resource planning is a complex process”. Explain the statement.     [3] 

27. “Money in your pocket cannot buy you all the goods and services that you may need to live 

well.” Justify the given statement with suitable arguments.      [3] 

28. Why is decentralisation favoured in democracy? Identify any two reasons.    [3] 

29. What are the three types of sectors in the economy, based on economic activities? Explain 
each, giving examples.           [3] 
                         OR 

Taking an example, explain the interdependence of the three sectors of the economy on each 

other.   
 

SECTION D (5 mark questions) 

30. Describe the process of unification of Germany.           [5] 

31. Which soil is called Regur soil? Explain any four characteristics of this soil.     [1+4=5] 

                                        OR 

       What is soil erosion? Explain any four measures of soil conservation.   
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32. Explain five changes towards decentralisation brought In the Constitution after the 

amendment made in 1992.           [5] 

33. (a) “We have not inherited the world from our forefathers. We have borrowed it from our  

children.” In context with the given statement, explain the meaning and importance of 

sustainable development.           [2] 

(b) Compare the criteria given by World Bank to compare the development of countries, with 

that of the UNDP's criteria.           [3] 
 

 

SECTION E (4 mark questions) 

34. Read the source given below and answer the questions that follows :  

The Constitution originally provided for a two-tier system of government, the Union 

government or what we call the central government, representing the Union of India and the 

State governments. Later, a third tier of federalism was added in the form of Panchayats and 

Municipalities. As in any federation, these different tiers enjoy separate jurisdiction. The 

Constitution clearly provided a three-fold distribution of legislative powers between the Union 

government and the State governments.  

        1.1 How much seat is reserved for women in Panchayat elections?               [1] 

A. 1/2 

B. 3/4  

C. 1/3 

D. 1/4 

         1.2 What do you mean by Federalism ?                                           [1] 

         1.3 Explain any two features of Federalism.                                   [2] 

35. Read the given extract and answer the following questions:                                                

      The trade of tiger skins and the use of their bones in traditional medicines, especially in the 

Asian countries left the tiger population on the verge of extinction. Since India and Nepal 

provide habitat to about two-thirds of the surviving tiger population in the world, these  

two nations became prime targets for poaching and illegal trading.  

“Project Tiger”, one of the wellpublicised wildlife campaigns in the world. Tiger conservation 

has been viewed not only as an effort to save an endangered species,  but with equal 

importance as a means of preserving biotypes of sizeable magnitude. Corbett National Park in 

Uttarakhand, Sunderbans National Park in West Bengal, Bandhavgarh National Park in 

Madhya Pradesh, Sariska Wildlife Sanctuary in Rajasthan, Manas Tiger Reserve in Assam and 

Periyar Tiger Reserve in Kerala are some of the tiger reserves of India. 
 

35.1  In which year “Project Tiger” was launched?                 [1] 

35.2 Why did India and Nepal become prime targets for poaching of tiger?            [1] 

35.3  Mention any four major threats to tiger population?                        [2] 
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36. Following the defeat of Napoleon in 1815, European governments were driven by a spirit of 

conservatism. Conservatives believed that established, traditional institutions of state and 

society – like the monarchy, the Church, social hierarchies, property and the family – should be 

preserved. Most conservatives, however, did not propose a return to the society of pre-

revolutionary days. Rather, they realised, from the changes initiated by Napoleon, that 

modernisation could in fact strengthen traditional institutions like the monarchy. It could 

make state power more effective and strong. A modern army, an efficient bureaucracy, a 

dynamic economy and the abolition of feudalism and serfdom could strengthen the autocratic 

monarchies of Europe. In 1815, representatives of the European powers – Britain, Russia, 

Prussia and Austria – who had collectively defeated Napoleon, met at Vienna to draw up a 

settlement for Europe. The Congress was hosted by the Austrian Chancellor Duke Metternich. 

The delegates drew up the Treaty of Vienna of 1815 with the object of undoing most of the 

changes that had come about in Europe during the Napoleonic wars.  

2.1 Who were Conservatives ?                         [1]  

2.2 Who led the Congress of Vienna ?                         [1] 

2.3 According to conservatives what factors of modernisation can strengthen monarchy.   [2]        

               

SECTION F (Map) 

37. (a) Two places A and B have been marked on the given outline map of India. Identify them 

and write their correct names on the lines drawn near them. 

A. Indian National congress session at this place in 1920.  

B. The place where Mahatma Gandhi broke the salt law.          [1x2=2] 

 (b) Four features A, B, C and D are marked on the given political outline map of India. Identify 
these features with the help of given information and write the correct names of Any Three 
on the lines drawn near them.                                                               [1x3=3]    

A. Type of soil  
B. Type of soil 
C. Type of soil 
D. Type of soil                              
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1. Escribe un correo electrónico a tu amigo para decir la experiencia tuya de nuevo colegio.                                

      (50 - 80 palabras)                              [10]                  

 

2. Escribe un texto sobre ti explicando dónde vives, a qué te dedicas  y cómo es tu rutina.    

       (80 - 100 palabras)                             [10]               

 

3. Lee el texto y contesta las preguntas :                                       [10] 
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Contesta a las preguntas siguientes:-  

a. ¿Cómo se llama la escritora y dónde nació ella?  

b. ¿Qué estudió ella, qué hacía a los 17 años? 

c. ¿Qué hizo ella a finales de los años setenta? 

d. ¿Por quién fue nombrada en 1983? 

e. Escribe el nombre de los libros de ella.  

 

4. Contesta a las preguntas en el contexto de estilos de aprendizaje :     [5]          

a. Explica el aprendizaje de estudiante independiente de campo.  

b. ¿Cómo aprende el estudiante dependiente de campo?   

c. ¿Cuántas formas hay para aprender según los expertos? 

d. ¿Qué significa aprendizaje grupal e individual?    

e. ¿Qué tipo de aprendizaje te parece bien para ti?  

 

5. Escribe una o dos frases sobre un director de cine, un escritor, un arquitecto, actor y pintor.   [5]         

   

6. Escribe cinco frases para presentar Che Guevara             [5]  

 

7. ¿Quién es Gabriel Garcia Marquez? Escribe dos libros muy populares de él.     [5]             
 

8. Conjuga tres verbos regulares e irregulares y haz            [6]  

     frases con ellos. (Hablar, Escribir, Comer, decir,  ir y querer).  

9. Conjuga los verbos reflexivos y haz frases con ellos.  (Levantarse, sentirse)    [3]      

 

10. Haz dos frases con cada uno de Costar y Sentirse          [4] 

 

11. Haz dos frases con Para y Porque                                     [2] 

 

12. Haz frases con Desde, desde hace, hace, hace …. que                       [4]             

           

13. Haz frases en pretérito indefinido con Estudiar, Aprender, Escribir, Estar, Ir y Ser     [6]           

 

14. Haz 3 frases con empezar a + infinitivo                           [3]   

 

15. Haz dos frases para mostrar la diferencia entre ir e irse      [2]                   

            

 


